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3 Sul punto si osserva che secondo gli orientamenti del Ministero dell’Economia e delle Finanze, Roma, 22 giugno 2018 

DIPARTIMENTO DEL TESORO DIREZIONE VIII STRUTTURA DI MONITORAGGIO E CONTROLLO DELLE 

PARTECIPAZIONI PUBBLICHE: “la nozione di mercato regolamentato accolta nel TUSP, all’art. 2, lett. p), è da 

ritenersi coincidente con quella definita dal TUF” (D.Lgs. 24 febbraio 1998, n. 58, art. 1, lett. w-ter). 
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13 Scissione parziale a beneficio della società P.I.L. S.r.l., poi incorporata in SAL S.r.l.. 



- 21 - 

�

��������	������
�����,���
�����+��������	���!���1��

�
��� ��	��������
�	�
��
� ��	���
���������	�
������������������
��8
������ $�$
$�<���	
�����5�������������������
�	�����	�4� 
��������� �� ���'�
��� �'�������� ��� ���� <� �
	�	�� ���  
���	1� ���
� ��
�
� ��� �
��������� �5���������� ��
�5��������'�� ���� ��
������ �'�������4� ��� ����������� �5������0���	1� �� �5��	����	1� ������ ���
���'�
��� �
�	�0���� ��
���	�
����4������	��������
��
���	1�������
����'�
����'��������������
������������	�
�������������$�
�
���������
��
��������
����	���� ��	��������
�	�
��
���	���
�<���	
���B�
�

C ����
��'�
��������
�����
�
���� 
���	1�������
��������B� 	�	�	
4�%
����
����#�����''�'�
��4����	�
���
�� �
�	�
��
� �M� "$���$� 632@6//24� �
����� �	��
4� ����
� 
�	��
���'�
��4� �	�$� ���� �����
���
����
�
������	�����G���	��	��������������������������������������������������	������'�
��B�=�������
�	


<����	

�
	���5
 /���	���
 �
 !��������
 �	
 ����	
 ���
 ?%���%
 1@2,+2&A
 “#�����
	���
 �����
 �����
	���
 �


�����	����	
���
��
���������
�
�	
����	
�����
B%
2C+,1+21
�
���
?%���%
@@,1+2@&A
D�������
��	��
���


/�����
!"#&A
D���	��
�	
�����	��&A
D����������	
	�����	
����	
�
������	��
��
���(���	��
����
�����
�	


������
�����
���������
�&A�
C ��
������@��	��'�
�����R��	��		����	��
����	�����������
���
�����
�������'�������4��������
����		���	1�

��������	�����
�	�
���$�
�
��� ��	��������
�	�
��
���	���
�<��	�	
�������	
��������
������������������
������	���B�
�

2: ��� �������
��� ���� �
�	�
���� �� 	�		�� �� �������� ������ �	��		���� 
�����''�	���4� �
����	����	�� �
�� ���
����
���0���	1� 
����	���� ������	�� �4� 
��� �
���0���4� ���������
� ���� ���������	�� ������'�
��� 	��� ���
���'�
���
����	������G����������
�	�
��
4��
���		��'�
���������	������	��'�
�������
����		
��5��	�������
����5�������'�
����������
���	��'�H�

6: ��� �
�	���0���	1� ���� �
�	�
���� ���� 	���
4� ��� �
�
� 	���� ���� ��� �
�
� ��
������	
� �����	�� ��	����	
� ��
�
���	�0�����
�����������'��
����	���$�

�
����	��		�������� ��	��������
�	�
��
���	���
����������
��
�����������
�	�
������������
������	�	1�����
�����
�
��� �������� 	����������� �����		
� ���5��	�	1� ��� ���������	
� 9�����
@����
��� �
���	1:� �� �
�	�
���� �� ������
� ���
��
����
$�
�
��� ��	��������
�	�
��
���	���
�<���
�	���������''�	
��B��
�

C ����	�������4�������������
��	
�����������	����	�� �� ����������� ������� �����	�� ���� �������� ������	��

����	���4� �����
�������G������ �������
��������������������������
��4��
����	��'�
����4�
������
�������
�
	��00��
�����������		���������	������0������
H�

C �
����	���� ��������	��'�
���������
����'�
������	�
������
�����������	�� ������
������		����
����
���		��
�		��0�'�
����
		
������
���
��������
���	��'��	���
����H�

C �	���''���� ���	���� ���
���	���� ������0���� �� ���� �
����
� ��
������ ���
�	�� ������	�� ����� ���'�
���
��������	������		���	1�����
�	�
��
$�

�
�������	
���������'�
�������
�	�
��
4���� ��	���������	��
��������R��������$���������������
�
B��

C �
�	�
�����������
� ������
B�����		���������������� ��� �
���		
���
������	
�����5
����	���	1�G�
	���������
����������
����		���	1�������	��������	������	��		������
��		����9��$B��
�	�
��
����������
:H�

C �
�	�
����������
��
�������
B�������	�����	��		���������������G��������
��		���4���������
��A
0��		��
����
�������������������		
���������	���������	����������������'�
���
����	����9��$B��
�	�
��
�0����	���
���
����4�
�����
������������������������	���'�
����
�	�0����������	�����������'�
����
��
����	����"���'�
������
��
������'�
������
�	�
��
�������	�
��:����
�	�
����������
����'������A
����	���	1�����������
��������
��
��		����9��$B�������
� ��	����������	�
���D����	14�
�0���	���� �����''����������
�	�
��
�������
������



- 22 - 

�����������	�	�$� ������	
���������
��������������5���
��	
���������
�=�	�����
�	
E���	��
���������?�������
������	������'�
��:H�

C �
�	�
�������	��'
�������
B����	�����
�	��	
�����
��
���������	��
�����������'�
��������������
"��	�4��
�	����
������������ �������	�� ��
����4� ��
��'�
��� ������ ��
������� �� ������ ���
�����	�'�
��4� �
���N� ��
����	����������'�
����	1������
��������
����	���������
�	�
������	����$� ������	
����������������������
�
=��������
"��	�
�
���	(	��
���
�	�����
�	
���������
	������?�������������	������'�
��$�

�
��� ��	��������
�	�
��
���	���
��
���
������
�	��B�
�

C ��� �
������
� �5
������	��'�
��� C� ���� �
�
� �������	�� �� �
	���� ���������	�� ���� ������''�� �	��	������ �� ���
�
�	�
��
���	���
������� 
���	1������������
�9��$B�����
	����������������������������������''
��������	����
����
�	�
��
���	���
4��
���N��������������������
�������	���5������	�''�����5����		��
����'�
�����	
4�
����������
��� ���� �� ����������� ������� �'�������� ����
� ���������	�� �� ���	�	�� ����
�
� ������	
� �� ����
����	��
����
�	�
�������������������
��	
������5�������	
������� 
���	1:H�

C ��� ���'�
��� ��� ��	������ 
���	� ��� ���� ����
���0���� ����
���� �������������	�� ��� �
������
� ���

������	��'�
��4�����
���0�����������������������'�
����������
���'�
�����!��������'�H��

C ��� �
�����
�  ��������� ����������� 9�
���		�� ��� ����'�
����� �
�	�
��
:� ����A
�������'�������� �����4�����
�
�	�	�	
��������������������
���		���������	��'�
��������4�������������	�4����������	�����5������	�''��
����5����		
�
�����''�	��
4��������	��	��
����
�	�0���������������������
��
����	
����'�
�����	
H�

C ����
��	�	
���������
�	�
��
���	���
�9�
�������	���
���
�����
� ��������:����G����������������������������
����		�������		���
�
�������	���������
�	�
������	����������	���������������	�������	���������00���
4����
���	��
������������	
��B���
����
�������
���	���������'�����H������������������	��������
�	�
��
���	���
4�
��� ������
��� ��	����4� ��� �������0���4� �� ��� ���	�
��� ���� ������
H� ������
��� ������� ���� �
�	�� �������� ��
�
��
����	�H�����������'�����������
����������
��������
���	1����������
��$���������
�'�����������
��	����
���� �
��	�	
� ��� �������� ��
�	��� ���� ��� �����
��� �
		
�
���� �� G���	
� 
����
� ���� ����'�
��� ������
G���	�
��� �
������	����������� ����������� ������
��� ������4� �����������G���	
� ��������� ��������'��
������	�� ���� ���	���� ��� �
�	�
��
� ��	���
4� ���� �00���
� ���� ��������� ���� ��
����
� ��� ���
���	����
�����'�����$�

� �

��������	��2"����)�,����
�����

�
��8
������ $�$
$������
		�	
������
��	������	����	������
����'���
���������
�4����%����
�����5������
��	��
�
������������	������������''���		������
���� ��	����������	�
�����	����	
4����	�����	
������	��	��'������������	�4�
������������������������	
�������
0��		�����	��	������������5�		��'�
����������
��	�����	����$��
�
������	�����'�
����'���������
������	���
�
�����	����������	����G����	14���0���	�4�����	����������''���������
�
4�
����
���0���	1� �
������ �5�������4� �������4� ������''�� ������	���� 9���� ��� ���	�
��� ������ ����� ����5��G��:4�
��	��
���'�
��4��
���N��5�������	����	
������������������	
��������
���������0
��	
����
��8
������ $�$
$4����
�
��
���	1�������
����� #@����2+/6)$�
�
-���6/2,�����
��������5�		��'�
�������
��8
������ $�$
$��������	������	
����������	�����'�
�����G����	�$�
�
-��� 6/2,� ��� <� �
�����
� ��� ��
����
� ���� ��� �
�	�	
� ��� �
���	1� �
�� 8
������  $�$
$� ���5
		������	
� ������
���	�����'�
��� � #� 3+//2B6/2*� ���� ��� = ��	���� ��� ���	�
��� ��	��
���'�
��?$�  
�
� �	�	�� ����
���	�� ���
�
�������'������	��
����������4����������	�
��������		���	1��������� #�3+//2�������
��	������	����	�$��
�
�
������	
� �5������
� �����	
� ����5
�	�� "���'�
��� ���� �����
����� ���� �	������� G����	�	���� ���� ���
�
�����������	
�����������		�	�������������	�����������	�Y��
����������������4������5
		������������
�����	
�
�
�	���
$��
�
-���6/2,��
��8
������ $�$
$����
		���	
� ������	�����'�
�����������
��������0
��&

	����	����� �5���
�6/2+�
����	������	�������������
����������
���	1����������
$�
�



- 23 - 

�5��	�����	�����	
����������		��	
�����������������5�����'�
����
�
�	���������	�������5�����	���
���������������		
�
������ ����5
�����''�'�
��� ����������
� ���"�������'�
��� ��� ��������� ������ ������
��� ��� ���� �� ����		
� ������ ����
�����
����
��
�����
����� #�27/*7C2B6/26$�
�
�5������
�����
��8
������ $�$
$��
�	����4�G�����4�����5��
'�
���������
��������
������� ��	����������	�
���
��	����	
4��������
��������N������������	�������������������	
$�

/�	�����	�� 
������������*�+��������������
��������������	�������������3���

�
�����	��22$/)$6/22�����
������
����
������	��'�
��������
		�	
�����
������	��
�������%
����
����
�����''�'�
��4�
���	�
������
�	�
��
4���� ����������5��	$�*�����"$����$��$�632@6//24� �����	�� ���="��������������������
���0���	1�
�������	��	��������������
�������������4��������
���	1������������
���'�
����������������������
����	1����������4�
���
��������5��	$�22��������$�6.$/.$6///4��$�3//?$�
�
�������		���
�����	���
�
��	�	���
�	��	����	������
���	�������������������
���������
���	������	�
�
		������
�������	
������������	��
����B�
�

• ��� ��	�� /3$/*$6/23� ��� �
������
� ��� 
������	��'�
��� ��� ����
��	
� �5����
������	
� �� �����	
�
����5�����'�
��� ������ ������ �$� 2./@6/26� ="���
��'�
��� ���� ��� ������'�
��� �� ��� ��������
��� ������
�
���'�
���������5��������	1���������00������������	��'�
��?H�

• �����	��6)$/6$6/2*�����
������
����
������	��'�
����������
��	
��5����
������	
�����%
����
�632�

�
�����	��
��������������	
����5����
������	
���������
������@��
	
�
���������	�4����5���������	
�

������������$�*,@6/2)�9��$�����		���
�	�
��5��0���	�:���������������$�*.@6/2)�9����		���
�	�
������00�����


������	��'�
������������
����0������
:H�

• �����	��2)$22$6/2,�����
������
����
������	��'�
�������
��8
������ $�$
$��������
���	
����%
����
�632�

�������	
��������
��������
�����''�	�����'��������������	�������	�����6/2,�G����������������
��������
�

�5�'���������
����G��� $�$�$���������
�����
4����������
�����������
�����������������	��'�
����'��������

���5��
��'�
����������	����9��$�������2+.@6/2+������	��������J���	��0�
V����K�"$���$��$�2/+@6/2,:$�

�

,�������4�����	���+
"��������

�����	��2/$/+$6/2+�����
������
����
������	��'�
�������
��8
������ $�$
$������
		�	
�����
�����	
�=������
�
�	��
����������
��
�?������
��������	������������B��:��
������	��
����������
��
�4���:��
������	��
�������
�����	�����
��4��
���	�����������'�4����:��
��	����
�	��
���'�
��$�

��� 
���	1������
		�	
��������
��
�����	
��
���5
0��		��
�����	��		������������	����������	�
��������������
��
��		�	
��������������4����������������
������������
���'�
������
�����������5������
�����
��8
���������
�������
���
���		�''������	����	1�������	�����'�
���������'�
���������
�
$�
����
������	��
����������
��
���
�	�����������������	�������
���������G�������� 
���	1�0���������
���
�
����	
���
�����
������		���	1�G�
	������4�����
�����	�����������
��
�	����	
4������������������
�	�
��
���������'�
���
������	�$�����
������	��
����������	��������	
�������������	
������������������������
��������� 
���	1�����������
����
���0
���
���	��������$��
����
������	��
������������	�� ���
��4��
���	�����������'��������������������������0�������G��������
�
��		������� ��
�
���	
��4����������	�	
�������0�����	�	
��4������
������	������	������	��������
�
�����
���0���	1������
���
�	�����
�����
��
�4�������
�����	�Y��
����4�������������''�����������
��	
���������5��0���	�$����	��'����������������
�
�����	
��
������������
��	����
�	��
���'�
��4����G��������������������
��4���������������������
���0���	1�������
��������
��
����������������	���������
		��������
���'�
��$��
�
!�����
��	����<��	�	����
��		�	�����������		
������������	������
��'�
����������0���� �����������������2./@6/264�
"$���$�632@/2������ ��	����������	�
���;-��� #�3+//2B6/2*4��
���5
0��		��
������
�0����
�����
��������
���'�
��4�
����		��
�������		�4��		����
��������4������
���
�����
���
�
���00���������������������������	�������	�$�



- 24 - 

�
-���������
�6/2.��5?������
��	��
����������
��
�?�<��	�	
�����
���	
��������	
�����5
		������	
�������	��
������ 
���	14��
����������'���������������'�
������
���	����	
4����������	�����'�
���� #�3+//2�K� ��	�������
���	�
�����	��
���'�
��$��
�

�
�'��������	�������

"���������	������������
�����
����
�����5���������	�����6���7�3�������	����������

��3����8�

�

����
������
����
������	��'�
��4�����������	������2+@/2@6/2.4��������
��	
����=����
�!������������������'�
���
�������
���'�
��������� ���!��������'��6/2.C6/62?4� �����
�	�	���������	�� ��	�����	������ �����	�	
�%
����
�

�����''�	��
��M�"$���$��$�632@6//2���
		�	
������� 
���	1$�
�
��� �$�$
$���� �
��8
������  $�$
$4� �
������0���'�
������� 3/@/2@6/2,4�����
����	
� ��� �
		$������ �����#�����4�
����
���0���� ��	������
���	���4�G���������
���0����������������'�
����������
���'�
����
���		��0�'�
��4����
������ ����5��	$� 73� ���� "$���$� 33@6/234� ������ ������ ���'�
��� ��� ����
���0���� ���� ��� !��������'�4� ���
� ��� 32�
�����0���6/6/$�
�
��� ����
� !��������� ��� ������'�
��� ������ �
���'�
��� �� ���� ��� !��������'�� ������� ��� ���'��	���� ������	�� ����
�����	���4� ����
� ��
������	
� ������ ��
����� �		���	14� ��� ������	
� ������
� ��� 	��������'�� �
���N� ������	1� ��
�������
����������	��������A��	����	1$�
�
�
�� 8
������ ��� <� �
	�	�� ��� ���� �
��	���� ��	����� �
�	�� �� ����		���''���� 
���� ��
�������	
� �������	��	��
�
���
��
� �� ���	���� ��� 	��������'�� ��� �������0���	1� ���� �����		
� ������ �
���	���� �����	�$�  ��� ��	
� ��	�	�'�
�����
VVV$�����
���$�	� � <� ��	�	��	�� ���
��	�� ��'�
��4� ���
����	�� = 
���	1� 	��������	�?4� ������ G����� �
�
�
��00����	��	�		��������
���'�
������������00����	1�<�
00����	
������������������������	������
��'�
����
���	�������
��	����4� 	��� ���� �
��
��'�
��� �� �
������� ����5
����
� �������	��	��
� �� ��� �
�	�
��
4� 
�����''�'�
��4�
���������	
� ��� ���
��4� �����'�� �� �
���	���4� ���������� ��� �
���0
��'�
��� �� �
������'�4� ���������� �������'����4�
�
����'�
������
�	��0�	�4��
���	1����	�����	�4����$��
�
"���6/2)�<��		���������
����������D�������
�	�	��&5�����������������
���	���������	�������	����4��
���5
0��		��
�
���������	���� ��� ����
�	
���� �������� 	��� ��		�������� ��������
��
���������
��
����� �� ���
��������� � ������	1���
	��������'�4�����		��'�
�������������������=�������	��'�
�������	�?4��
���N����������'�
����������
���'�
��4�
�
���		�		
��������������R������0������	����������
4��
������������	���������������$�2./@6/26��
���N���������
�
!������������������'�
����������
���'�
������������!��������'����
		�	
������� 
���	1$�
�
�������
�!������������������'�
����������
���'�
������������!��������'��<���00����	
���������'�
���= 
���	1�
	��������	�?�������	
��'��������VVV$�����
���$�	$�
�

,���
�����"	�����'�
�-����	�����������	������
���������
���

�

�
��8
������ $�$
$�����������
�	�
���	��
����G��� $�$�$�����6/27�����
�
��
	�	��������;�����
������	������
���	����
9��������	
�������=�
?:���������
$�

�5;�����
� ��� ��	������ 
���	���� ����
�	�� ���� ��	��� �		
��� 9�
������
� ��� 
������	��'�
��4� !
�� ���������	:�
����5���������	
�������
�����
���	�����	��������
�	�
��
���	���
����������
���	
��������	�����
������
���
���
���	�''�� �5������	�''�� �� �5���������� ���� �
��������
�  ��	���� ��� �
�	�
��
� ��	���
$� �5��	������ 
���	���� <�
��5�		���	1� ����������	�� ��� 
0��		���� ��� ���������� �� �
������'�� ������''�	�� �� ����	���� ��� �
����	�''�4�
�5������	�''�����5������0���	1����	������������������'����������������������	��������
�	�
��
���	���
��
���N����
��������������
��'�
�����������
����������������
�����������0������������
��
�$�



- 25 - 

�������
���0��������5;�����
��
�����
�����������������	������
������
����
������	��'�
��4��
��<�����
���0����
���������������
����	�������<��	�	
��
����	
�G���������
���0�����������������'�
����������
���'�
�����������
!��������'�$�����
������
����
������	��'�
��������������� 
���	1����������
�����
��4��
�������'���������4����
����
����
���	��������
�	
���������
���0��������5;�����
������	������
���	���$�

�5;�����
� �
� ��� <� �
	�	
� ��� ��� =%������� ��� ��	������ 
���	?� ���� ��������� ��� ��
������� ����������� ���� �
�
��
������	
�����5�		���	1��������	�����������������
����	1�
����	�����������
�
�������������	������������	
�H���
���	���	��������%��������
�
����"���'�
��@;������������ 
���	1����������
��
�$�����
�	���	
�����%�������������
��
��������	��<��
���		
�������
������������
���������	������5;�����
������	������
���	���$�

��������������
���	����������
���0��������5;�����
��
��
�
���������	�B�

�$ ��������4� ���� ��� ���� �
�	����	���� ���� �������'�
����� ����������� �������	1� �� ���� �����		
�

�������	���������	����'�
����4��5
����	���	1����5��
���	1��������	��������
�	�
��
���	���
���������	�
���

����������H�

��$ ��������������		���	1������	����������	�����������
����
���
������	
�����
��
����
�����������
�����	
�

�
�	���
H�

���$ �������
��� ����'�
��� ����
������ �
�	����	�� ������	�� ���
���'�
��� ������ ��
����� �		���	14� ������

�
����	1��
�������������
��
		��������	�
�������������4��
���N����������		
�����������������	����������
�
�

�
�	������	
$� ��� ����'�
��� ����
������ �
�	���
�
� ���� ����	�'�
��� ����5��
���	1� ���� ���	���� ���

�
�	�
��
���	���
���������	�
�������������H�

��$ �������
���	�����	������	������'�
����������	��������	��
������������'�H�

�$ 	�����		���������'�
�������
�����������������	�������
������
����
������	��'�
��4��
���N����"���		
���

��������H�

��$ �1��
������'�
��������������	�������$�5
$��������	���������	��	��
�������@����
�
������	����	����	����

�����		
��������
�������������
��	
H�

���$ ������������
���
�����
������	
�����%������������	����������	������		
������ 	���������	����'�
��������

�
$�

����$�$
$���O�������������������
���0������	������
���	��
���
������	
���������������������������������
����	����
�����������		
�������
�������
���������	���������5�����'�
������
����'�
����'�������$�

�������
���0�����
�
�����''�����
�	�������
������
������
�������������
�	�
��
���������������	����������������
�
�
����0�
� ��� ���
���'�
��� �
�� ��� �
�����
�  ��������4� �5#�������
���� �������'�� �� ���  
���	1� ��� ������
��� ������
�
���	1� ���� �����
� �
�� ��������
� ����A�		���	1� ��
�	�� �� ����A������	�''�� ���� ���	���� ��� �
�	�
��
� ��	���
$�
�5
0��		��
�����5���
�	�
�<�
		��������5���
���	����������������������'�
�����������	�����	������������������������

�����������������������	�����
�����
��'�
��4��������'�
�������		���	1����������''�����
���0������������$�

 ����������5��0�	
��������		���	1�������������������	�
���������
������	
4��5;�����
��
���O����������������	
�
������#����M�"$���$�632@/2������
���
������	
����
���	�632����������������������������5����		����
����	���	1�����
�
�	�
�����
�	���	��������
	
�
�������������'�
�������������%
����
����#�����''�'�
��4����	�
������
�	�
��
��M�
"$���$�632@/2$��

�5;�����
��
�<�	���	
�������������'�
������5#����
���	��	���������	����������	��'���������		���	1��������	�����
�
����
� �
�	�	�����������
��'�
�������%
����
�
��
���G��� �
��
�	���� ��� ������
���� �
������
������ ���	��
������	������"$���$�632@6//2$����

�

�

�

�



- 26 - 

!������	���������)��

�

��1�����6/27��
��8
������ $�$
$����������	�	
����5
�	
��	1������	���������
��
����'��������%����	
�9
��%:�
����������	������		��0�'�
���������	�������������	1��M�"$�$��$�2@6/264��
����	�	
�����$�*6@6/26$�
�����	�������������5�������'�
������������	����	�������������
�
��		��0��	�����0������������		
����	�		������G����	��
�����'�����9�����	����:4��
���N����G������������	���4�������	���������
�����	
��		��	��
������	����������	�������
������	1�9"���0����
��%�����)������
�6/274��$�67.)3:$��
��� ��	�� 62$/2$6/2)4� �5
��%���� �		��0��	
� �� �
��8
������  $�$
$� ��� ��	���� ��� ������	14� �
�� �������'�
��� ����
���	����
����	����	����$�
�5
��%�����5������'������66���00���
�6/2+4��������0���	
��������
��������
����66@/6@6/2.������	�������������	1�
���
��8
�������
��������
��5�		��0�'�
����������	����
�������
����	����	����$�
��� 
���	1���������	
� ����		���	1�����	����������
�������������
�
�������	������� ������	1����5
�	
��	1������	��
�������
��
����'��������%����	
������	��26�"����0���6/2,����5��	��'��<��		������	������
��
��������	�'�
��$�

�

!���������������
���'���������
����
��������-�
���)��������
���	���"�����	����������

������

�

����
���	14����������	�
��������
�	��		����������	
��������4�	���������	��4��������������		�	������!��		�	
�;����	�	����
�������
��
����'�����������
���	���������		
��$��

�
��8
������ $�$
$4��
����
�������
�����	�4������	��������G����	1�����������	�'�
������������		
�����������������
��0�����
��
����'�4���
�
����	14����������4������'����	14�����	1����	��		����	
4�	��������'�4���
�
�'�
����	14�
��00����	1����
������������'�
��$������	����������	�����'�
����������
�������������������	
��
�
�	��������
��
�������������������������5����		�����
���0���	1�������	�����'�
�������������
�������4�����
������������������$�

��� ���
�����	
� �
�	��		�� ��00����� ���� ���
��4� �����'�� �� �
���	���� ���� ��		
��� ��������� ��� ��� ���
�����	
� ����
 ��	�������D��������'�
����
�
���00����	��������	
���	����	�VVV$�����
���$�	$�

-
�������	��
����
��	�	
��������0�������
�����	����	������������	�	������������
����	1������	������
���	����		�����
9��$�����		����������'�
��4�0����		�������	�����:$���

6��
������������)���������	
���
����

�

�5����
���
���������	
�����
��8
������ $�$
$������
��
������������ ����
�
�
������
4�����
����	�''�� �������
�
��������� ������ �
�	���0���	1� �
��
�	�� ����5;�����
� �	���� X� �
��������� �� ����5;�����
� �
��
��	��  
�����
����
���0���	>� 9� �:4� ���� �
�
� �
��
��	�� ��	���0�� ��� �	���� ���5
������	��	
��� "�����	
4� �� 
�����
� ���
�
���0
��'�
����
���5��	��"���'�
��$��5������
�� ��������
���	�������������������������������	��		��������
��8
������
 $�$
$�������5������	���
�������'�
��4�����
� �������
�����0�������4������� ����		�� �
����������0���	���4������
��
��
�����������
������������	�����������
�	���0���	1��		������
��������'�
�������0������
�����
�	���0���	14����
�����''�'�
��������
��		������������
���0���	1��
�����������'��	��������
���
������	
��������	�Y��
����4���	�����
�����	����$��


���O����������	
������5�'�����������	��������6/27����<��
	�	�����������	����������	�
�������������
���0���	1�
�
�������5�����������
��
� �
��	������� 
�,///B6/27���������������	�������� �������������������������
�
�
�
��	
��	������ 
���������
�������!�����
�	�	��	
����
���0���6/2+$� ����������6/2+��5�'���������<��
	�	��
���������������	����
��
�����
����� #�6*///���������
�	�	
��������������	
�����5��	�����
���������������
�
�	���0���	14� ����� �	��		���'�
��� ������ ��	����� ��� ��	������	1� �� ����� ������'�
��� ��� ���� ��
������� ���
������
�	�'�
��� �
�� �����'������ �� ���	���� ����5���
� 6/2,� 9������
�	�'�
��� 6/2+:$� "��� 6/2,� �
�� 8
������
����	���	���������	��
00����	���������������"$���$�6)7@6/2*��������������'�
����
��&����'������<��	�	�����
���		�	��
�������������������	���������
���	1��"#4�9��������
�
������	��������������
�����	
����������
�	�'�
����
��
&����'�����:$�



- 27 - 

���������	������'�
������������	�
����
���
�	����� �����������'�
����������		�����
�������'����
� ���G����4����
����������5��	$�)�����"$����$��$�6)7�����3/������0���6/2*��
�	�	�������
�����	
����	��	
���������������	�	
�
������	����	��������������	������'�
��$�

6
��	�����������������

�
���0������
��5������'�
�����
��8
������ $�$
$����
������	
�������������	������'�
��4����
�	�� ����	���
�	�0����
����	�������5������'�
�6/2,���G����������0������
����������������32$26$6/2+4����
�	��������0��������5�������'�
���
��������	����	�
����&������������
�	���� 	��������9�&� :���
		�	������5;��
������
���$27�
�
�����4������
�	��0����������������������������		��������
���
�	
��
����	���������6/2+4�������
����9���$����������
��������
� ����������	
�
�����''�	��
4����������
�����		����:� �������� �
��
����� 6/2+���� �
�
� �	�	�� �������
���������	����������	����	�����������	�
�	����	
������9���������������
4������	��	������������	�4��
�����
����'��
2$/3$6/2+�	��������'��G��� $�$
$����
��8
������ $�$
$:������������	��2$2$6/2,�<�������	����������
����������
�
����'����������	��
������=�		���	1�������	�
�����������
�	
��
���5�	��'���������		���'�
���������	����������������'�
�
�����
���	����	
��������0
��	
�������������?��������
���	1�
����G��� $�$�$���������
�����
��
��8
������ $�$
$��
�

�
�
�
�
�

                                                 

27��5��
'�
�����������������
�	�0���� �
 @�&� �<��	�	������
��	�������
������
����
������	��'�
�������
��8
������ $�$
$�
������ ����	�� ���� 6*� �����
� 6/2+� 9���� G���	
� ����� �
���'�
��� �
��������4� �
���������	�	���� ��� ��	�� 6$/,$6/2+4� ������
����		���� �������
��� ���� 	�	
�
� �� ���
'��'�
��� ���� %����  �����	���� %��Y�	� ���� ������  	
�Y� �M������� ��� ��� ����	�	
�

00����'�
����
�������
�7/�����
��������
��������
��8
������ $�$
$��	����:$�

������4��������
9���
�����

����������

9���
�����

���������:

������ 63.$3+3$*/3 63*$)3,$.+2

��������	���������
�� ���	���� 3$6/,$,26 3$6)*$,/)

��������������
�� ����0��������
������
�� ,*$366$73/ +7$),7$/)2


�	��������������
���	� 2.$+3+$.3) 62$)*2$)*/

!���'�������� �%��(%��::7 ��$�7%����:

�
�	��������	����������4�������������4�����
����
�������� 97.)$.).: 96+7$32.:

�
�	�����������'� 923)$2*3$76): 92)+$**.$2,/:

�
�	���������
������0��������
������
�� 9,*$366$73/: 9+7$),7$/)2:

�
�	
���������
���� 92.$6)6$2//: 926$),/$3./:


��
�	����	�4������	
�����	���������	�'�
�� 97,$77,$./): 977$6+.$/7):


�	����
�	��
����	��� 92)$//+$*36: 9+$3)/$/)7:

������;����� 5��%�(7��%%78 5�7(�:�:���78

!��"���������
���'�� %��7$����� �7���%��%�

��
���	�������'���� 6$./3$.23 6$.2,$2)7

#����������'���� 9+$232$,*6: 92/$7.*$/2):

!��"������������������ �7�:�%���� ���(�(�%�(

���
�	� 926$7,6$2.,: 9.$2+6$623:

!��"������������	���<���
������5�8 �:��%����% ���%$%��:�



- 28 - 

�
�
��� ��
���		
� ������'��� ��� �����	�	
�
����	��
� ��		
� ���� ���������	�� ������ ��� 264*F����� ������� 	
	���� ��� �
��
8
������ $�$
$� 9������
������224+F�����������5���
���������	�:����������'��������
�0����	
���������������
���	������5����������'�����$��
��
���������	
	���������
����	��
�6/2,��
�
������������	
������		
���G����
�����6/2+�9Z7F:$� 
�
������O���������4�
��������	����	�4���������		������5�����	
�����������������������	��������������	�'�
��� 9�������������G���	
�
�
������1���	�����	
:$��
�
���	
	���������
�	������6/2,�<4�������4������	
�����3F������		
���G����
�����6/2+4���������	���
���		�		
�������
�
��
���	�����	��
�������� �����'�4� ���������'�
��4������� �
�	������ ���
��� ���0���� ��� �
������
��4�����
����4�
���
�	����	�4������	
�����	���������	�'�
��������	����
�	��
����	���4����������	��
���������0���������	
$�
�
��R�����	������
�����
�
�������	�������		����
4�	����5��	�
4���������������	������$��
�
D��������
������	����''����������
���	
�������	��
�����������
B��
��
������������������5������'�
�����
��
���	��
�$�$� &#-�4� ����������������G�
	����� 	�����������	���''
�����
��	
����� ��� �����''�'�
���������
��� �����	����	��
���������	���
������
��	��������	����	
��
������	
$���
�
���G�
	�����
�
����	�����
��8
������ $�$
$4���������
�
���0�	
���������		1�%�	�
�
��	�������%����
4���	���	�	
�
�
���
�	�4��������6/2,4���B�
�
5�"
�8� = &,������

C �
��
����
�	�� 22$33)$2,7�

C -�		
����
�	�2)� ��,$*27$+7/�

9-
	�B�����������
�
���������������
��'�
���	������������
����	��E�2$3/*$6/*��������6/2,���� �
��
�����5����		
�
�������:$��

�

 ��	��		�4�����
�
�����������	
4������''�������'����������	�	������0����������������
��
�4��������
�
����������
�������	������
��	���
4���������G�����������	
�����������
�	��������5
���
��5������
���������	���
������$��
�
���� ��� ����
�
� 6/26C6/2,� ��� G�
	�� ������ �
��
���	�� &#-�� <� �	�	�� �������	�� ��� ���� ���
��	����� ���� ���
�����''�'�
�����������	����	�4�
�	�������������	����������
��'�
���	������������
��	���
		
��
�������0
���������
�
����6/2*���6/2+4�������������	����
�'�
��������	�������
����������������������������	���������$�
�
��� 	��� ����
4� ������ �
		
� ��� ��
���
� ��	���
�����4� ��� ������''�� �
�	�	��	�� ������ �
��
���	�� &#-�� �����

��
�	������	������������������	��������	���
��
���		
����������
4�
���������		��<���1��	�	���	���''�	�$���
�

                                                 

15 ��� ����0���'�
��� 
���
� 6+� �����0��� 6/2+� �$� .2,@6/2+@�@�"�� =
���
������	
� 0�������� ������ �������
��'�
���
	���������� ���� �����'�
� �����
� ��	����	
?� �
������� ��� �
���� 62$2� ����5
�����	
� 
� �5����		
� �������� ��� ��		������ ������
�
��
���	��&
-����������������	�����G�
	������6+4)F����67F$�



- 29 - 

,�!���'���������	���������	�����������

�
���������!
	��������
��8
������ $�$
$�����6/2,��
�
B�
�

�
�
"�������	
����������		����$�

,�!���'��

�
 
�
���������	����	���
�	�	��	����������������	����������� $�$�$�
�

�
�
����
�
����
�	����9���
�63.$3+3$*/3:�<������	
�����Z2F������		
���G����
�����6/2+�9���
�63*$)3,$.+2:�����
����		
�����������
������	
���������������	�		����������
��
���	�$�
�
�����������
�
�6/27C6/2+������	�	
��
�����	
������	
����'�����������	��'��������
���	1�
����G��� $�$�$�����
��������'�
�������	�
�������������'�
����
���5�	��'�������
�	
�����
��8
������ $�$
$������
��������������
�	����	����
���� ��� 	������� ������������	�� ����	���� ����� �
���	��'�� �
������ ��� G������ ����$� �5�		���	1� �
���������� ��
������	����
�����B����	�
�������������'�
����
���5�	��'���
�	��		���������M	���
�	��		���������	��������		���	1�
���������'�
������
���	����	
4���������		���4���		���'�
�������������	�'�
������������'�
������
���	����	
4���������
���
����������	�
������������	
�������������
��
�����
$�����
�	��'�����
����G��� $�$�$���		������90
���		���
�
����		����	�� 
�� ������		����	�:4� �����
	���� �5��	���� !������� ��� �
���	��'�� ���� ���	
��4� ��
�������
�
�������������	����	�������������
��8
������ $�$
$������������$��
�
D���	����	��'�
���<��	�	��������	������2$2$6/2,���������		
���������1��
����	�	����G����'�
����������
����
�'����������	��
������=�		���	1�������	�
�����������
�	
��
���5�	��'���������		���'�
���������	����������������'�
�
�����
���	����	
��������0
��	
�������������?��������
���	1�
����G��� $�$�$���������
�����
��
��8
������ $�$
$�
�
������	��
����4�����������0�	����	�
�
��	��
���0����'
�
4������
��
�����6/2,��
�
��	�	���������	�����	����������
�		��'�
���������	
�
�	��������
������
������������
�
�������
��'�
���6/2*C6/2.4�����0���	
�����5
�	
��	1�����
�5�����������		����4������������� ��	���������
�9����6/2,�
�	
��	1�������
��'�
�����������������	����
�0���	�:4�
�
���������0���'�
���
���
�����6,������0���6/2)��$**7@6/2)@�@�"��9=%!��K�6?:$�
�
-����
�������������		1�%�	�
�
��	�������%����
��
�
��	�	���������	�4������
�����B�

������ �	
	�� � 32$26$6/2, 32$26$6/2+ F

������ 63.$3+3$*/3 63*$)3,$.+2 2F

��������	���������
�����	���� 3$6/,$,26 3$6)*$,/) C2F

������ ��������
������0��������
������
�� ,*$366$73/ +7$),7$/)2 2*F


�	�� ������������
���	� 2.$+3+$.3) 62$)*2$)*/ C,F

!���'�������� �%��(%��::7 ��$�7%����: %>

������ 32$26$6/2, 32$26$6/2+ F

���	������� �� 62,$/27$3*, 62+$,..$76+ /F

�����
��������� 6$*7.$)76 6$*2+$+)2 2F

��������'��G�� / 2,7$6)) C2//F

���	���������
����	� 2)$*6)$732 2)$)*6$/32 /F

��	�� ������� 2$6**$.2/ ,+$*/2 237*F

�
����������'� 2$,2+$3)6 2,+$./* ,*+F

!
	���������� ��7��:��(�� ��(�$���7:� �>



- 30 - 

C ���� /2@/2@6/2,� ��� 	������� ��00����	�� ���� �;��� �$� 2� ���� 3� ������
� 6/2,� ����
��	�� ����5
�	
��	1� ���
���
��'�
�����������������	����
�0���	���
������0���'�
����$�)/3@6/2*@�@��������2)@/.@6/2*H�

C ���� /2@/*@6/2,� ��� 	���������00����	�� �����;����$� 6+����� 7� �����
�6/2,�����
��	���������
������'������
�
���������5
�0�	
���������		1�%�	�
�
��	�������%����
��
������0�����$�3�����22������
�6/2,�����		����
����5����
��'�
��� ������	���� ����5
�	
��	1� ��� ���
��'�
��� ���� �������� ��	�� �� 
�0���	�4� ������	�� �
��
����0���'�
����$�73*@6/2,@�@��������6@/,@6/2,H��

C ���� /2@/2@6/2,� ��� 	������� ��00����	�� ���� �;��� �$� 7.� C�%���
���L� /)� �����0��� 6/2,4� ����
��	�� ������
�
������'�������
���������5
�0�	
���������		1�%�	�
�
��	�������%����
��
������0�����$�6�����3/�
		
0���
6/2,4��������	
������
����
���������	��
��'�
���	��������������������������0���'�
���
���
��$�**)@6/2+@�@���4�
���4� 
�	��� �� ���������� ��� ����
� ��0�	
� 	��������
4� �	�0������� ����
����	1� ��� �������'�
��� ������ 	�������
����5���
�6/2,$2*�

�
 �����
���������5
�	
��	1�������
��'�
�����������������	����
�0���	���
������0���'�
���)/3@6/2*@�@��������
2)@/.@6/2*�����������
��	
��
�������	�������
��������
�	������	
���[��������
�	������5;�����
��5
�0�	
�������
��		1�%�	�
�
��	�������%����
4�����
����
������������	�������	�
����5����
������	
�	��������
4������������
�
�
6/2*C6/2.4���	������	
��������������5
�	��
�
�*�����5"�������
"4�����������0���'�
���**7@6/2)@�@�"�$�
�
�
�� ����������� ����0���'�
��� 73*@6/2,@�@���� ���� 6� ��
�	
� 6/2,� ��� ��������� 
�	
��	1� ��� ��
�����	
�
���5����
��'�
�������5����
������	
��������������
��'�
���	�������������������'�
������
���	����	
��������������
6/2,� �� 6/2.4� ��
�
�	
� ����5;�����
� �5
�0�	
� ������ ��		1� %�	�
�
��	���� ��� %����
� ����
����
� �� ������	��
�
�	������	
��B�[��������24/*6��������6/2,�9����	������	
��������
�������
����[��������24/)+�����	���''������������
���������'�
��������
�������:���[��������24/63��������6/2.$�
�
 �����������������
���
4����	��������4��
��������
�
����	
�����������
������	�����������5���
�	
�������
�2$/7*$2,2�
�������6/2,�������
�2$6**$76+��������6/2.4������		������	�����
�������
����=�
�	����0���	���������������
���I��4�
�����	����	�4��������
������������'�
��@�
		����
����������������������'��6/2*���6/2+4���	�����
�K���	
�	
�C�
���������	������
����
���1��������������	����
��
���	��	���������$��
�
�
��8
������ $�$
$������
�
�	
����
��
�����	�����!
���
�0���������3/�
		
0���6/2,��
�	�
�	����������
��$��

�
�����������'������		���	1���� �����	����� �����'�� ���5����
��
�������	������
��8
������ $�$
$4� ������		������
�
��
���� ������	�� ��	��	�� ���� 	����	
��
� ����5
!#� ��		1� %�	�
�
��	���� ��� %����
� �� ���� �
�����
�
� �����'�� ���
��G���
		
������������'�
��������	
���
�����	�����	����	
��������0�	���
�	������4������
�	������
		
�������
�

                                                 

2*� �5��
���������		1�%�	�
�
��	�������%����
��
�� �����	�	������0�����$�6@6/2,��������
��	
� ��� ��
����
��������	��		����
	���������� �� ��� �
�������	�� ���������	
� ���� �
������		���� ���
��
� ��� ����
��'�
��� ��		�	�� ���� =!��	
� ��	����	
�
�
������		����  ����'�� ������� K� !�� �?� ��� ���� ����� ����0���'�
��� 
���
� �$� **)@6/2+@�@���4� ���������
� ��� ����
� ��0�	
�
	��������
4��
�������	���
�����������	�
�����		���	1��������	
�������8
������ $�$
$�����5
!#���		1�%�	�
�
��	�������%����
$�
��� ��
��� 	������� �
�
� �	�	�� �������	�4� �� ���	���� ���� �
������ �
�� ���
����'�� ���� /2$/2$6/2,� ���� �� �����'�� ��		���	�� ��
����		����	�� ���	�	�� ��� �
��8
������  $�$
$4� ��	�
� �5��	��
� ����
� ��� ��		���'�
��� ���� �������� �
������ ��� �
���	��'��
����5�������	1�6/2,4��
����	�0���	
�����������5��	$�7$2�����������0���'�
���
���
��
������	�	�$� ��	��		���������
������
���
����5�	�������
�������'��	������������	
��''�	
��
������0���'�
����$�)/3@6/2*@�@��������2)@/.@6/2*�������
���
�9���
��
�
G���	
�������	
�����5��	$�3+�����5
�����	
�
�����������0���'�
���
���
��$�**7@6/2)@�@�"�:4��
���5
0��		��
��������������
����������
� ��0�	
� 	��������
4� �
�������	�� �
�� ��� ������	�
���� �		���	1��������	
��� �
��8
������  $�$
$� ����5
!#���		1�
%�	�
�
��	�������%����
$������������'�4��	
�������	�4�����	����
4���������
���		
�����������
���0�	
����	�	
4���������
=�
		
���0�	��	��������?4������
��
�������	���
��
��������
�
��
��������	�	
$��



- 31 - 

�
���	��	�� �� ���������� �5�������'�
��� ��� G���	
� �	�0���	
� ��� 	��'
� �
���� ����5��	$� 2*� ����
� ������� ���
�
����'�
�������
��	
��
������0����*)*@6/2)@�@�"�4���������	������=�������
��
�����	���
�����	
����	
	
�


�	����	
�������	
������	5
�������	
	�
���
������	��
�	
"�<5
��������
���	
����	��	
�	
����	����	
	���
���	((��	�


�.�/"
���
��	
����	���	�
)
�����	

���
�.	��	����5
����	�
������5
��
�������
�����
@+
�	���	5
����.�/"
����������


���
	�
�������
����	��&%��
�
���	�������
���4�G�����4�
����	
��5��
���		1�%�	�
�
��	�������%����
4��������
����
����	��������������������
���	�
��� ��� ��
����	�� ��� �
�� 8
������  $�$
$� ����
� �� �
�	������� �M� 
!#� ��		1� ��� %����
� 9������'�
��:4�
�������������	�����
��
��	
�����5
!#���		1�%�	�
�
��	�������%����
��	���
4�
!#��
�
�9������'�
��:4�
!#�
�
���9������'�
��:4�
!#�%
�'�������'��9��G���
		
���������'�
��:$�
�
�5
�	
��	1�������
��'�
�����������������	����
�0���	���������
��	
��
�������	�������
��������
�	������	
���
����������	�
�����
����	�4�������	��
����B�
C �
������0���'�
���73+@6/2,@�@�"������6���
�	
�6/2,��������
��	
������
��������
�	������	
���[������
��

8
������ $�$
$�G�������
����	��������'�
�������
����	����G���
		
�����5��0�	
���������
����������%
�'��
�������'������
����
������������	�������	�
����5����
������	
�	��������
4�6/2,C6/2.4���	������	
����������
����5
�	��
�
�*�����5
�����	
�
4�����������0���'�
���**7@6/2)@�@�"���9���������
����	����G���
		
B�[���������
24267��������6/2,H��[���������2423,��������6/2.H����	������������
����	��"�����'�
��B�[���������/4*.2��������
6/2,���[��������/4*.2��������6/2.:H��

C �
������0���'�
���2/)@6/2.@�@�"������2.����'
�6/2.��������
��	
������
��������
�	������	
���[������
��
8
������ $�$
$�G�������
����	��������'�
�������5��0�	
���������
�����������
�������
����
������������	����
���	�
����5����
������	
�	��������
4�6/2,C6/2.4���	������	
��������������5
�	��
�
�*�����5
�����	
�
4�������
����0���'�
���**7@6/2)@�@�"���
��[��������24/2,��������6/2,���[��������24/66��������6/2.H��

C ���<���	���L�����		�����������
����������
��'�
���������	�����
���������5����
������	
��������������
��'�
���
	�������������������'�
������
���	����	
��������������6/2,���6/2.4���
�
�	������5;�����
��5
�0�	
���������		1�
%�	�
�
��	�������%����
������
������0���������$�5
$��$�)�����22@/*@6/2,��������
��	
��5����
������	
�
������	���������
����	�����������'�
�������5��0�	
�����
�
��
��[���������/$.,.��������6/2,��������[���������
2$/32��������6/2.$��

�
��� �
�	������	
��� 	��������
� ��� �
�� 8
������  $�$
$� G����� ��
����	�� ������'�
��� ����5��0�	
� ����5�M� ��		1� ���
%����
� 9������	
������ �����������
��
��
:�<� �	�	
���	������	
� �
������0���'�
���73*@6/2,@�@��������6�
��
�	
�6/2,����
���
4�����
����
���������	���
�	������	
��B�[��������/4+63��������6/2,���[��������/4+63��������
6/2.:$�

�
!
�����
����	��������%�	
�
�	��������
�<�����
		
�������������5��	$�6�����������0���'�
���6,������0���6/2)�
�$**7@6/2)@�@�"��PP��	
�
�	��������
������
�6/2*C6/2.C�%!��C6QQ��	�0����������4�������������5����
������	
�
	��������
4����
��������=���
��	
��?��
�
�������	���
��������������
��
���	������
�	
����������'�
$��
�
!�����
���������
��
��
�
4��
������
����	1�������	������5��	$�6.�����5
�����	
�
���������	�	������0���'�
��4���
��	��������� ����
�	������	
��� 	��������
� 	��	�������������������� 	�����������5���
��Z6� �����		
���G����
�������
�
���	��'����
�
����������
���������	����$��
�
!�������
��
���	���
�������	���������������
������
�����������
��	
��4����<�G�����������
�L���		��=�
����?$��
�
����
����
����
��	
��
���	������� �������
�
���� ��������������	
���9���:����� �5���
�=�?� �����������
� �5��	����
�������
��� ����5���
�	���� ���� �
����� �5��G��� �����	�� ���5���
� =�C6?� 
����
� ��� ���� ����� ��������	�� ���
��	������'�
���������	������$�����
�������
�=�
����?�9�������1�������������5���
��Z6:����
���������
���
����
G���������	�������������
����	�
�	�	�4�
���	�
�	�	�����������
4��������������������'�
����������
������������
���$��
�
�5��	��
�
�6.�����5
�����	
����������0����**7@6/2)@�@�"��������������	����
�������
�	
�=��
����?����	���	�����
���������������	�4�������	��
����������������
�G��������������
�����	������B�



- 32 - 

• ����
�
�������	�� �
��� �
� ��
�	����	
� 	��� ��� �
��
���	�� �� �
���	���� ���� �
�	�� ��� �������� ���		�����

������	������������G����������		������	�����		��	�$����G���	
����
����������������
���
��
		
�
���
�����������	����	
� ��� �������
������� ���������� ���0
���		��������	���� �	�0�����
�������''
�����
�
������	���
� ��� �
���	���� ����5�������� ���		����� �
��� 0���� ��� ���������	
� ���� ��� ����
�
� ����
�
��
�	����	
$��

• �����	

� ��
��
���	�����������	���
��
�
�������	���
���G���������
�	��0�	
������	
����5
���
4�����
�����

�
���������G����������
�
����	����4������
��4����
�	��0�	�������	��0�	�������	���������	���
����$�

• ����
� ��
��
���	�����������	���
��
�
�������	������������
�����
���
�	����	
�	�������
��
���	����

�
���	���������
�	�����5����
��
��������
��
����
���������	��9�C6:�������
�	������		������	�����		��	�$�
�
������������
��
���������		
� ��������G����
���1� �
�	�����	
���������������	������0���'�
���6+������0���
6/23� *73@6/23@�@�"�� 9��	
�
� ���� ��� 6/27C6/2):4� �� ������ ���
��� G����
� ������	
� �
�� ��� ),)@6/26@�@����
9%�	
�
�	��������
�%!!�����6/26C6/23:4�������
��������	���������	���
��������
�����	���������������	�$��
�
D���	
���		
� �
���������1�����������������'������G�
	�����	������ ��	��
���������6/6/����1��������	����
�
������������
�	���
�	���	��������������������	�����G�������
���	�����	������4�
�����������
�������������'�����
������������
������	����������		
�=�
����?4�����	�������6/2,$�
�
����
������
������G���	
��
���������	
�<����4��
���5�����	
���������	
�
�
����	�������������
���
4����<���	��	��
��������
��������=����������
�������?�������	
����������������
��'�
���������	������������'�
�����������������	��
����
�	
���
�
���
�9
����	�������������	���:$� �������
���������	������������'�
��������O�����������������	��
����������������	�	���������6/2,������
��<��	�	���������	�����0
���		�'�
������5�	��'������5���
�6/2,4�
�<��	�	��
�������	�������������������	�������		
���G������������	�4��
	�1����������������	��
����	�	��	���
�����	�����������
6/6/$�
�
������
���������G�
	�����	����������		��	�����
��8
������ $�$
$����
�	�����
�������������
�62,$/27$3*+�9���
�
62+$,..$76+�����6/2+:$�
�

��� �
���
�	
� �
�� �� ������� ����5���
� 6/2+�������'��� ��� ������ �����	
� 9Z227$.7/����
:� ���� �����
� ��� 	�������
������������	����������		
����G���	
��
������1�������'��	
$��
"�������	
�������������
���������
���������������������	�������������������������
����	��������	���������
����������
�����
�	
���
�
���
$�
�

�
�
��
�	��4������������
4��
������
�	�	
����	�0������
		
B�
C������5��0�	
����������������	���
�����������
�
���	�	
�
��������	�'�
�����������'�
������5�����'�
����������		���	1�
	���������		����	��������
���'�
���������������	��'�
���
���������������
��������� $�$�$��������	������	����	
��
�
�����������
�	�������
����������	
������G������0�	
H�
C������5��0�	
����%
�'���������'��	��		��������������������
�������	��		���������''�	�����
����6/2+$��
�

������ 32$26$6/2, 32$26$6/2+ �����'�
���F

������ ����!������

��
����������%����
 62+$,6.$/*) 62*$//*$).7 2F

��
�������%
�'���������'� / 2$+.6$*32 C2//F

��
������������� 2,)$3/6 2//$6/6 ,)F

������
���	((� 62,$/27$3*+ 62+$,..$76+ /F

������ ���
����	�

��
�������%
�'���������'� 26$,6+$+33 22$.)/$2*+ +F

��
��������
�
 2)7$.32 26+$37) 66F

��		1�%�	�
�
��	������ �%����
 6$63+$72* 3$223$/., C6,F

��
�������
�� 7/)$3)2 3+2$762 .F

������
/����	��� 2)$*6)$732 2)$)*6$/32 /F



- 33 - 

�
�
!���'����
���'�
���"���������������������

�
����������������
������0��������
������
����
�
�����������
�,*$366$73/������5������'�
������
����32������0���
6/2,$�
��
�	��
�
�������
�+7$),7$/)2�����6/2+$�!������������
�����
��
�
4�����������'�
�������5�&����264�
����� 
����� �����''�	�� ���� 0���� ��� �
������
��� ��� ��
����	1� ������ �
���	1� ��� �	���''�	�� ������ ���������
����5������'�
���������
������		���	1�����		����	���$�

�
���
��!���'�����
�'����. 

�
������	��������������
���	�����
�	��
������5������'�
������
����32������0���6/2,�������
�2.$+3+$.3)$�-���6/2+�
���
�	��
�
�������
�62$)*2$)*/$����������������
��
���	���
�
���	����B�
�

• ��������
�	��		�����������'��	����������3��������
�7$/,/$.32H�

• ���0
������������
��������	����	
��������
�2$3/)$676H�

• ������������
�	��0�	���������
�6$/2+$.)7��������
��������	����
�����	����������������	����G���
		
H�

• �	
��
�����
���������	
�����	
���������	��������������������
�)$.37$,).H�

• ��	��� �
����������'���������
�3$6)+$.3)� �
��
�	��������������	����� �������� ��� �����	�� ����	��	��
�����	�	�����������'����������	���������������������
������������'����������	�4��	�$�

�

"��������		���	
��������
���B�
�

- ����
�6$/.6$6)/��
�
������	
��
�	
	���������
��
���������	����������G�
	��	����������&
-������������	��
���4�������������'����������	�4������	�	�����	���	����������
������
����������
��'�
���	����������������		����
�
������9�
�������	�������������
��������	���
������0���'�
����$�+��������
������'�������
�����
!#�
��		1� %�	�
�
��	���� ���� 32@/)@6/2*� ��� ����
��'�
��� ���� =���
�����	
� ���� ��� �
������
��� ���
����
��'�
���	����������������		�����
�����������
:$��
��	
��
�<��
	���	
����������	
��	���''
���	�
����
	������� ���� 3/@/*@6/2,� 9����	�� ������
��� ����5��
� ������ ��		1� %�	�
�
��	���� ��� %����
� �
��
"���0���'�
��������$�5
$��$�7�����66@26@6/2*:$�

- ���
�2/,$).,��
�
����0��
�������	�������
��
���������	��������=������	�����	������?��
�����
�������		��	��
����5���
�6/2,$��5���0��
�<��
�������	������������
����	�������32$26$6/2,��
��
		������	�����������
��
8
������  $�$
$� ���� 	��		�� �	������� ���� �� G����4� ��	�
� ��� ��������� ��	�� �
�
���	���	�� �� ��G����	�� ����
���
��
�
�������	
������� $�$�$������	��������4����
		�������'����G���	
�����������	
������
�����	�	
�
����������0�����$�)4��	$�64�����5;�����
��5
�0�	
���������		1�%�	�
�
��	�������%����
�����6)$)$6/2*H�

- ���
�2$*76$7)+��
�
������������	����������'��������0��
������
��
�=���
����0
����?��
���	
������
����6/2*�
�M���	$26�����"$�$�$�)�
		
0���6/2/4��$�6/+$����G�
	�����	���''�	�������
��
�<�����		����0���	���������
�
���� ��� 
����� ���� ��
������� ������ �����	����	�� ���� ��� ���������
� ��� �
���� �����	
��	�4� ����
� ���
��	���'�
��H�

- ���
�2$.*6$)..��
�
������������	����������'��������0��
������
��
���������������
��
H�
- ���
�26,$.)*��
�
�����	�������5���0��
������
��
��
���	���������	����	���$�

�
 �����
������������6/2+�����������	�����	�����
����5���
�	
�������
�7$77)$37*������		
������
�	������
��8
������
 $�$
$�G���������		
�����5��G����'�
�����	�	
�
����	��	
��������
���		
����
�����
$��

�

!���'����
���
'������	"��
������	����
�������
� ���������� ���������: �9�
��������>

��
�������%
�'���������'� / 2,7$6)) C2//F

��
������������ 6$*7.$)76 6$*2+$+)2 2F

!
	��������������������'� ������	����� ������	�� ����	
�� 6$*7.$)76 6$,/6$//) C)F



- 34 - 

�

,���������������	���������	�����������

�
 �������		�����4��
����
����	�	
�������������
��
 ��$2�9������	�'�
�������0������
:4�����
���	1�������	�����
��
���		
�����
�	
���
�
���
��
��������
��������
����5�������������
�	���		������
���������������'�
���0���	��
��������	����������������$�
�
�
��8
������ $�$
$���������	��	
�����6/2,��
�	��	
	�����������
�3/7$*./$77.4��������	�������		
����6/2+�9���
�
6.*$+3+$/3.:��������������3F$��
�
�

�
�	��	
	���� 32$26$6/2,� 32$26$6/2+� F�

�
�	��������	����������4������������4�����
����
���
������

C7.)$.).�� C6+7$32.��
,2F�

�
�	�����������'��� C23)$2*3$76)�� C2)+$**.$2,/�� C27F�

�
�	���������
������0��������
������
��� C,*$366$73/�� C+7$),7$/)2�� 2*F�

�
�	
���������
����� C2.$6)6$2//�� C26$),/$3./�� )3F�


��
�	����	�4������	
�����	���������	�'�
��� C7,$77,$./)�� C77$6+.$/7)�� .F�


�	����
�	��
����	���� C2)$//+$*36�� C+$3)/$/)7�� 2/7F�

������������� 0��%�(7��%%7�� 0�7(�:�:���7�� �>�

�
�
��O�<�������������	���
��	
�����������	
������
�	����������
�����9Z)3F:�����
�	�������������
����������
����
�'�������
��
����G������������
���	
4���������	����
�	��
����	���� 9Z2/7F:��������
�	������ ���
��� ���0���� ���
�
������
���9Z2*F:��
���N����������
�	����	�4������	
�����	���������	�'�
���9Z.F:$�!���������	���
�
����
���	���
������	��������������'�
��������
�	�����������'��9C27F:$�
�

��������
���
'�����


��
�	��
�����6/2,�������
�23)$2*3$76)��
�	�
������	
�������
�2)+$**.$2,/��������6/2+$�
�
���������������
����
�
B�

�
"�������	
�������������	��'�
��4��
�����������	
������������������
�����������������������	��	�0����$�

�
��� �
���2�<� ���������	�	������ �
������		���� ���
�
����	�� ����� �
���	1� �
�	�
���	��
����G��� $�$�$� ���� �����'��
��	���
����>��������	��������������	�������
�	��		
���������
���'�
����������		���	1�
����	�������
�������

��������
���
'���
9���
�����

����������

9���
�����

���������:
9�
�>

2 �
�	� ������
�	��		
��
���'�
���������	��
����G��� �� �����	����
�	��		� ���	���
����> .+$.).$,3+ 2/)$)./$.26 C2/F

6 �
�	�������
�	��		
����	�
�������'�
����	��'��9
����'�
���������
������	����������	�: C 3$22/$7)) 272F

3 �
�	���������
�� 2$33)$*7+ ))7$,3+ 272F

7 ��	�����	�����������	������������� A��G�� )63$)+3 72)$**2 6*F

)  ���������� � �����
�����������	���
 6$2/+$)67 2$,*7$.)+ 23F

* 
����	
�����	���
������������	��� +$73*$/+2 6)$*2,$66* C+2F

+ �
�	���
�	��		
�������'�
�����
����	� 2$2)+$6). 2$22+$+6. 7F

, 
�������'�
�� +3,$//* 3).$+)2 2/)F

. �
������'��������� .3)$/)* 2$2**$*26 C6/F

2/  	���
�������
���������
 6$3.)$./* C 2//F

22 
�	��������'� +$+6)$+3. 7$/)6$.+/ .2F

26 �
�	�����������'� ��������	��	���4��������� ����
��������� 3$)77$.** 3$)*+$/+) C2F

23 �
�	�������
�����	
����0��� .$3/3$,72 2/$67.$..7 C.F

;��������������
���
'��� ��$��(��%�$������������ �$:�((7���������������� 0�%>



- 35 - 

����������	�
�����
���'�
���������������	������	����	
�������
���	��'������5
!#���
����������%����
4�����5
!#�
��
������� ��� ������ �� ����5
!#� ��
������� ��� %
�'�� �����'�$�  �� 	��		�� �
������	�����	�� �� ������������	��
����5�		���	1� ��� ��
��'�
��� �����	������ ����		�� 9������'�
4� �
���'�
��� ��� ��	�� ��� ������	�:� ��� ������		��
9����	��'�
��4�����'��4�������'�
����
����������	�	�����������
������������	�:����������'�
$��
�
��� �
��� 2� ��
�	��� �
�������� �� �
������		���� ���
�
����	�� ����� �
�	�
���	�� 
����G��� ���� ��	��� �����'��
��	���
����>� 	��� �� G����� �����'�� 
����	���4� �����'�� ��������4� ��		���� �� �
�	�
��
� ��� ����������	�� ��
��		���4�
��		�������������'������	��'�$�
�
����
���6�<����������	�	�������
�����
4����
�
����	
����
����G��� $�$�$����� ������	�
�����������
�	���
��
�5�	��'���
���N������5�����'�
�������������
���������	������
���
���������	������������	�	��������
���������
�	
�
����
��8
������ $�$
$�-���6/2,�	�����
���<�'��
4���������		
�������������
�����=���
����0
���		�'�
��?����

����G��� $�$�$����
��8
������ $�$
$�
�
����
���)����������	������
�	
���������
��������
����G������	����	
������
�������
�����
��������
�6$2/+$)67$�

�
����
���*����
����������	
�����	�����������
����
���������������������
�+$73*$/+2$
"������B�

- ���
� 2$3,6$,*7� �
�
� ����	���� ���5���������	
� ��� ��� �
��
� ���� ��	�����	�� ��� 0
������� �� ������	��
�
��0���	��������	��������������������������	�����������'�
��4�����	�	
�����
�������'�
������G��������1����
�
���'�
�������
���
����	���		��������	��������
		
�	��	���������'�
���������	��
�����������	��		����	
�
����������	�
��������
0�������	��������������
�
���	���	���4��
���N��������	����������
�����������������
��������������
�	�����'�
��������	�	��	������	�����������	��
:H��-���6/2+��5�����	
�����	
�������
���
���������
�63$6/*$.22�9����
����
�����
�	�	�'�
��������
��
4���������
���0�������G����5������'�
:H�������

- ���
�7$.33$)+*��
�
�����	�������
��	��'�����	
��������
��
���������	����	
���	����������	
��������	
����
�����
����
������'�
����������	�������
������
���������������
����
�0�������������������5��	$26�������
����������6+@/3@.6��$6)*�9�����������	
:H�

- ���
�7*)$,3/��
�
�����	����������
�	�	�'�
����������
��
����������
0����	���������	����������	��'��!
��
�
�0�������$�2+,6@6/2,�����
�������
��'�
����
���	���������	�������	�����������������	$�72�����"����	
�
�������$�2/.�����6,@/.@6/2,��
����	�	
� ��������� ���2*@22@6/2,��$�23/$� ����	�	����
��������	������
�
�
��
�	�	
�����6/2,�������
�	1��������
������
��������	
��������
�����������������	
���������
�	���$� ��
	��		�� ��� �
�	��'�� ������ �	���4� ������ ��	�� ���� 32$26$6/2,� ���� ��� ��	��
� ����	����	
� ���� ������� ���
������'�
��4���������	����
�	����������
�
���
4��������	������32$26$6/2,4����	
���	��	���
��������	�����
�		�����������	����	
H�

- ���
�*3)$6,7��
�
�����	�������5���������	
������
��
�0
��������������9���
�2$/)7$2))�����6/2+:H�
- ���
�2,$)2,����� ���������	
����� �
��
� ������ ��	�������� =������	���� �	������?��
�����
�������		��	��

����5���
� 6/2,� 9���
� 7//$6*/� ���� 6/2+:$� �5
����� <� �	�	
� G���	�����	
� �
��� ��� �����
��� �	���� ���
32$26$6/2,��
��
		������	�����������
��8
������ $�$
$�����	��		���	�������������G����4���	�
�������������
��	�� �
�
���	���	�� �� ��G����	�� ���� ���
��
�
�������	
�������  $�$�$� ��� ��	��������4� ���
		�������'����
G���	
� ����������	
� �� ���
�����	�	
� ������ ����0���� �$� )4� �	$� 64� ����5;�����
� �5
�0�	
� ������ ��		1�
%�	�
�
��	�������%����
�����6)$)$6/2*$�
�

����
����$�+�<�����	��������
�	���������
�	��		�������
����	���������	�'�
�������	������������'�
������
4������
���
�	��
 
�� $�$�$4����	
�������5��0�	
�����
��4��������
�72,$6)6���%%� $�$
$4����	
�����������		1����%����
4��������
�
+3.$//*$�
����
����$�,�<�����	�������
�	��������������������	���$�
����
����$�.�<�����	��������
�	���
�	���	����������
������'��9��$B��
������'���������	��4������'�����������
��4�
�
������'��
�����''�	���4������
����
4��������	���4��	�$:$�
����
����$�2/�<�������	�����
�	���
�	���	���������
�	��		�������������'�������������
�����
������
��$�
����
����$�22�
�	��������'���
��������������������	���
�	���������	�
�������
�����	����	
���������
���������
�
��������
�	���4�����������	�������
���'�
��4�����'�
��������	
��'�
��4��
�	�
��������	������������
����4�������
������4���
��
��''�'�
������
����
4��	�$�
�



- 36 - 

����
����$�26��
�	������ �����'�� �������	��	���4� ����������� �
����������<� �
��
�	�� �
���		�		
����� �
�	�����
�����	��'��	�������������	��'�
���
����������
�	V���4��
�	����������'�
���0
���		������	����
������'�
�����
�	��	�4��������	1���
�������
������������
�	���������	��'�
���
��������$��
�
����
����$�23������
�	�����������'������
0������������
�	
����
�
����	
������5�	���''
����������	��		�����@
�0�������
	��'�4��
�L���	���
����	���
��
�	�$��
�

�
�
�
������	�������������<���	��������G�
	�����������
�
����	���������$��$������5�	���''
�������������	��		��������
�
�
��
����	1���������	��	���������	��������������
�	����	
�������	����������	��������������������
�	��'�
������
��		��������	��		���$��
������
���������
�)$+3.$3),�9���
�*$3,6$3+,�����6/2+:��
����������
�	������G�
	�����
�
����	��������M����	
���
���� �5�	���''
� ������ �����		���� ������	��		���� G����
� �����	�� ��� �
�
� ��
����	14� ������ 0���� ���� �
������		��
�
��		��	
��
����'�
����$��
�
 �������	
��5�������	
���������	������������	�����
�	
$��
�

�
�
����
���������	
����'������	�������������	
��
	��
��4��������
������
��8
������ $�$
$����������������	�
���
=�����
�
���?��@
�=�
���
��
���?�����	����	
��
$��
U������������	�������	���
����	�����	���	��������������������
�������
�������
�
���������������
�	����	
�
�����
		
�	��	����	��$�

-����� �
��� �
�	�� ���� �����'�� �������	��	���4� ��������� �� �
���������:� �
�
� ������	�4� 	��� ���� ��	��4� �� �
�	�� ���
�������	��	
��4������������
���	1����������
���������$�

�
�	����������
�����	
����0���
���
������

32@26@6/2,

���
������

32@26@6/2+
���$F

���
�������
��'�
����������'� 2$3*+$276 2$**7$322 C2,F

���0
������	��������
����
�����
�� )$+3.$3), *$3,6$3+, C2/F

���
����
������
�����
��
''
 2$/2.$2). 2$*,3$72, C3.F

���
�������		����������	
 +**$.2. 633$).. 66,F

-
����� 722$6*3 6,*$62* 77F

 
����������'��������� / +6 C2//F

!
	��� .$3/3$,72 2/$67.$..7 C.F



- 37 - 

"�������	
�����		������������
�������
�	
�����	��������������	��	
������������B��
�

�
�
�������	
�����
�	�������
������
�����������	��'�
������������'����
����5���
�	
�<��������G����
����
�
����	
�
������
����0���������
��$�
�
�������	
�������
���	1����������
����"#��	����� $�$
$4�����
�	
��
�	���	
�����
��8
������ $�$
$��������������
���
������������
�	�����
�	������6/2,�������
�6/$)//�9����6/2+����
�	��������
�62$)/2:$���
�
��������
���������������
�	��<�����
���	1��"#��	����� $�$
$��
����	�4��
������
��'�
�����������	��
��
�����
4�
����5
����0���������
�������
��8
������ $�$
$4�����������	������/2$/*$6/2+4������
�
�	���
	���	�������
�����
�
 ����������������
����������	
������
����������
'��	���
���
���
�	
����
����	�4���������������'���
�����������
����32������0���6/2+����32������0���6/6)�9�
���'�
��	����	���������G����'�
���������	������
��8
������
 $�$
$� ����
� �	�	��� ��� ��	�� ��� ��	������� ��00���
4� �� �����	
� ����5������
��� �� G�
	�'�
��4� �
�� ������	�� ���
6$,$6/2+4����������	�	
�
00����'�
����
�� �-��$�T 2*)*+)7,+34���1�
���		
�����
����	
$�
�
����
���	1����������
���<��	�	����������	�������	����		���	1��
		
����
�	�	�4� �������
�	���
�
��	�	���
�	���	������
6/2,B�

- ���������	����������
��
��������������"���0���'�
���
���
�67$/3$6/2*4��$�23+@6/2*@�@�#%�9������
���
�
�	�0�������� �
�	�� �������� ������	�� =���
��	
��?4� ��� ����� ����������	��4� ��������0�����	��������	�� �
��
�5�������
����������
���������:����
�*$///H�

- ���A���������������������
���� 
�	���0���	1�6/2+4�������	���
���������
������
���0���6/2+4����
�22$))/H�
- �		��	�'�
�������	�����0
������00����	1�9"��%�./@6/2,4���	$7:������
�4����
�6/2+4����
�2$///$�

����
���	1����������
���<��	�	����������	�������	����		���	1��
		
����
�	�	�4��������
�	��������
��
�	���	������6/2.B�
- �		��	�'�
�������	����������	�����'�
���������������������������� ������
������
�4����
�6/2,4����
�)$///$�

�
��������
���'�
���"���������������������
�
���
�	���������
������0���� ����
������
����
�
�����������
�,*$366$73/������5������'�
������
����32������0���
6/2+������������	��
�����
���������	���������
����������''�	������0��������
������
��$����
�	����	���������	���''�	��
�
�
������		��������	�������5��	���
�������������������
�������
�	
���
�
���
$�-���6/2+����
�	��
�
�������
�
+7$),7$/)2$��
�
�
������	�����
�������
�
����
�������
�����9���
�2.$6)6$2//�����6/2,4��
�	�
����
�26$),/$3./�����6/2+:���������	��	
������������	
�
����5)3F���������
	���'�
�����������	
�������	�$��
�

�
�������
�������������'�
����32$26$6/2,������	����������	�	
������		
����32$26$6/2+����2*3����	14��������	
	����
���3*2���������	�$��
�
 �����
���������
������		
�2$2$6/2,�<�������	����������
����������
�����'����������	��
������=�		���	1�������	�
���
��������
�	
��
���5�	��'���������		���'�
���������	����������������'�
������
���	����	
��������0
��	
�������������?�
������
����G��� $�$�$�������
��8
������ $�$
$4��
����������
����232�����		�$�

,�	�����)��
������������ 9���
��������������� 9���
��������������: 9�
��������>

�������	1��
������
��A
������	��'�
�� 23)$22) 237$/3/ 2F

�������	1��
�����
� �������� **$3)+ +3$).3 C2/F

;��������	�����)��
������������ ����%:�� ��:�(��� 0�>



- 38 - 

�
����
��������
�
��� �
��� ���
�	����	�� 9���
� 3+$2/6$**6� ���� 6/2,4� �
�	�
� ���
� 3,$/),$2.3� ���� 6/2+:� ��� �����	��	
� ���
��������	
�����3F$��
�
�
������������������'��"��������

�
����
���9���
�22$37*$673�����6/2,4��
�	�
����
�*$66/$,)6�����6/2+:���������	��	
������������	
����)$26)$3.2�
���
�����5,6F$��
�
���	�����
�������������B��

- �����	
�����	������
��
���������
�	�
���������������������
�2$))2$33)H�
- �����	
�����	
����
������������	�������������������
���������00����	�4���������		������	�������	���������4�

��	�����%����
4������������37@3*4��������
�2$7).$/+3$�"�		����00����	���
�
�����
��
�������
��'�
��������
����	���� ���
��� �
���00��
� 	��������� ���� 6/62$� ��� �
�
� ����� ����1� ���		
� ��� ��
�
� ��00����	
� ���
���	����������=����G���	��?����������
��
�$����������
�����		���������������������
	����	����	���$�

- �����	�'�
��������	�4�������������	
�����	
�������
�,$33)$,3)$�
�

�

���
�����������
���'��
�
;�5��	�����
������������	
�������
�<���	����������	����
�	��
����	��������������
��4����
�2)$//+$*36����32$26$6/2,4�
<������	�	
������		
����6/2+�9Z+$*)+$)+,����
:$��
�


��5��	���
� ��� G���	�� �
��� 	�
���
� �
��
��'�
��4� 	��� ���� ��	��B� ��� ������ ��� ���'�
�����	
� 
$
!#4� ���
���
���������4��# 
�@�!# 
�4��%;4����$��
�
���
�����
��
��'�
���������������������
��B��
�

�
�

!�������
����������'�������������
�����������������	���������������������'����������	��9�
�����������
��	
���
����	���4� �
	�� ��� �������	
� ��� �	��'�4� ���
��� ������� ��� �
������� ��� ���
��� ��� ���
��'�
��� ��	�������'��
�����'��	�����	��'�4��	�$:$��
�
�

!��"���������
���'���������

�
��������	�	
�
����	��
���		
��������6/2,����
�	��������
�73$.)6$33/4�������
�����G����
��
������	
�����6/2+�
���
�	��	��������
�3.$6/7$37,$�
�
�

�

 ��
�����
�'�����-�������
�����'��"��������	����
�������������


�	����
�	��
����	��� 32$26$6/2, 32$26$6/2+ F

 �����������'�
�����	
���	��9
!#C
���
: 2$222$767 ./7$,+/ 63F

���
�	����	���� 2$/*6$27/ 2$+3.$*2, C3.F

 
����������'� .$+32$727 6$+)7$+3) 6)3F


�	���
�������������������	�
�� 6$//,$,)+ 2$)+6$+,, 6,F


�	�
 2$/.3$+.) 3+,$/76 2,.F

!
	������	�� ��
�	� �
����	��� 2)$//+$*36 +$3)/$/)7 2/7F



- 39 - 

�
�������
�������
����������'����4���
���	�������'������������	�'�
���������	�����'�
��4��������6/2,����
�	��������
�
C7$66+$.7,4�������
�����G����
��
������	
�����6/2+�������������
�C+$)++$,*2$�
�

,�������

�
������
�	�����������	
����
�	��
����
�������������
�26$7,6$2.,�9���
�.$2+6$623�����6/2+:$�
�

!��"������������	
���
������

�
�������
����������'�
�<��	�	
�������
�6+$676$2,7�9���
�66$7)7$6+3�����6/2+:$�

�

+�����'����������	���������	�����������

�
�
������������	��������
��'�
�����������
����	
����	���'�
���=�����	����	
?�����6/2,��
�
��	�	����������
���
� .7$,+*$*.)� 9���
� ,3$7/*$*,6� ���� 6/2+4� ���
� +.$6,+$7*,� ���� 6/2*4� ���
� ++$/)/$7+6� ���� 6/2)4� ���
�
)+$3+/$)).�����6/274����
�)2$23)$6+3�����6/234����
�6,$.6.$.23�����6/26�������
�2,$,)3$/63�����6/22:$�
�

�G���	�����
�
��������������	��������G���	�����������5�'�������@
��������������	1����0�������
����G���=���	�?�
���� ���� ��� 6/2,� ���
�	��
� ��� ���
� )6.$/62� �� ���� ���
� +3$)2*� ���� �5��G���
		
� ��� �
���� �
���N� 0����
���
0���4���1����������'�
4���G���	�	���������
�	�
���	��
����G��� $�$�$��������
�+$.2/$)++�9������������������4�
���%����
:$��
�
 �����
��������	�����
��
���	��������	�������
�	��
�
��������6/2+�������
�2$,2.$/7)4������5���
�6/2*����
���
�6$6)2$3,64������5���
�6/2)�������
�67$)//$///����������6/27�������
�3*7$,73$�
�

�
�
!�		�����������	����	���
�
��	�	�������''�	������
��8
�������@
����
����G��4��
���	1���������
��8
������ $�$
$�
�
����������2//F����32$26$6/2,�9�
�����G�����<��	�	
��
		
����		
�����
�	��		
���������������	�����
���	
:$�
�
���� �����	����	�� ���������
� G����� ������ ������� �����
���'�� ������	��		���� ������	�� ��� �����'�
� �����
�
��	����	
$���
�
 �� ���
���� ���� ���� �����	����	�4� ������ �
����� 
�����''�	���� ���� �����
� �
�4� �
�
� ��������	����	�� ����	��
����		����	�������� ���
�����
4� ����������� ��� �����
� ������	����R� �
�������� 9��� ���������
��		�� ��� ���
���
��00����:$��

/

2/$///$///

6/$///$///

3/$///$///

7/$///$///

)/$///$///

*/$///$///

+/$///$///

,/$///$///

./$///$///

2//$///$///

6/23 6/27 6/2) 6/2* 6/2+ 6/2,

�����	����	�



- 40 - 

,����
����������
���������

�
����G���	
��		�������������
���'�
����		����	�����5��0���	�����������
������������	������5��	$�676,������
�$����$�
�������������������6/2,B�
C �
������
�
�������	���
�	���������
�
4��N����
�	������������������
��
��
�	�	
�����
���������
�����������4�

�N�����0�	�����
������������		�����
�����
����������������	��
��M���������	��������������
00���4��������
G�����<��	�	�������	�	��������	������	����������
���0���	1��'�������H�

C �
�� ��� �
�
���������	�� ������ �����	�� ���5��0���	�� ���� ���� ��� �
���	1� <� �	�	�� ��������	�� �
����
��� ��� ����
������	���4��N��
�����	�����'�
���
������������	���������		�����5���������������	��
���������0���	���$�

�
-���5��0�	
�������
����
�����
��
�������	
��������		���	1����������''
����

��������	
�����
��8
������ $�$
$�
C�������	��������	����������������	�
������������'�
������
���	����	
�����	����	
��
�������������	
�K��������5���
�
6/2,�<��	�	
�����		���''�	
���� ��	�����	����
�����''�	���� ��	������
�	��������������R���������������������	�� ���
���	�
������������'�
��	���
4�����5
		�������������
�����	
��
�	���
4����	���
������������
������
�'����	
�
���������'�
������������
�����
$�
�
��� ��5
		���� ��� �
��	����� �����	������ �
�	�� �� ���
��''���� ��� ���	�
��� 	�
 �����
 ����	�	��� ���� �����'�
� �����
�
��	����	
4� ��� �
�
� �
��
����	�� �� ����
�	�� �
�� �����'�� 
�G��� ��
�������
� �
�� ��� ���	�
��� ��� �
��	
�����	1�
9������	������5��	$�3/��
����7C	�������"$�����6+*@6//3:�����5;�����
����
���	�
��!����
�
�>������	��������''�	
�
���������''��������������������5��0�	
�������	����	
��
��
�	����	����	���
�����
$�
�
��
�	����
�����
����'��/2@/2@6/2,����5��	���
�������G����
��
��������
������R���������
�����''�'�
���������
�		���	1����������
��
��<��	�	
���G����	
��������
�	�
���	��
����G��� $�$�$�������
��\�'����������	��
���������'�
�
���	�
��������	������0
��	
��$����
	��������	����������	
������������		���		���	1����
�
������������������������
�������	1� ��� ���� 8
������  $�$
$� ��� �����	���� ��	���
��	
��� ����
� ������ ���	�
��� ������ �	��	�� ���� G���	
�
���������������
�	���
�	��		����4���0��	����
����
����G���������������		�������		���'�
���������	��	������������	�$��
�
!����
����'�
��� <� ������''�	�� �� �������� �
����	�� ��� ���	�
��� ���� �����'�
� �����
� ��	����	
� ���� 	����	
��
� ���
�
���	��'�� �����		
� ����� ����		�� �
���	���� ��� ���������	
� ������ �		������
� ��� ���������	
� ����5�		�����
��	��'�
���������	�
����������		���	1��������'�
����
�������	��	������<�����		���''�	����������������		��'�
�������
���	����	���������
�	�
���	������
�'����������������
�	��		������������
$�
�
&��'�
����������
����
��
��������
��������
�'����	
����������
�����
�<��	�	
����������	����������	
�������
�		���	1������0
��	
���K�������G����
	�0����������G����������K�������8
������ $�$
$�����5��0�	
�������
����
����
���	����''�'�
������
	��'�����	
��������		���	1���������������������
$�

��������	���
��	�������	����"��
��	�����
�������

��� ����
����� ��� �����'�
����32$26$2,� �����	�� ��������	�	
����2*3����	14� �
��������
�������		
������� 	�0�����
���������������	������
	����	����	���4��������	
	�������3*2���������	�$�
�
 ���
		
���������������������������'���������������
�����	�����G����������������������
��
���
�
�����		����	��
��������	���������
���	1����
�����
4��
��8
������ $�$
$4��
��������	�
����������
�������	������������	1�
������������
���	���$�!��������
�	��'������������		
������
�	
�����
���������
���������
��8
������ $�$
$�����
�����	���������
�
�����
���������
�	
�����������	�@G�����4��������������	��
�����
�
�
���������	�		
���������
�
9��$B�	����	�����	������	
	�����@
����'����:$��������
�	
�	��������
����
�	
��������������	�������G�������	�	
�
��������
����0������
��
��
����	
4��
������<���1����	
��
�
�����
		
����������������
������
��4��������������
�	��
���
�����	�'�
����������
�	�������
�	�4���'�
�������
���������
�	�
��
���������
�0�����4�����
�
��	
����������'��
��������	��9��$B�����0���'�
���+@6/2.@� �:$�
�
U�����
		
���������
��������
��
�����6/2,��������
������	��	�����������
�����	�'�
�����������
����B�
�



- 41 - 

C �������
� ��� �$� 2,7� ���	1� ��� ���B� �$� �77� ���	1� ������	�� �		���'�
��� ��� ����'�
��� ��� ������ ���� �����	��
���
�����	
�������������'�
�����������
�����9��������$�*����������	�:�K��$�232������
������
����
����G���
 $�$�$����
��8
������ $�$
$�K��$�.������
����
�	��		
����
����G��� $�$�$����
��8
������ $�$
$H�

C ;���	���$�62����	1�������B��$�7����	1������������	����G����	����������
�����	
�K��$�2����	1������'�
�������
���
��'�
�������
�	
���� ���
�
� C��$�22����	1������������
��@�������� C��$�)����	1����� 	�����������
�	
����
���
�
$�

�
�������
����������	����������
�L���������
B�
�

;,� 6 +,�� &?/4! �

• �,!,+4&;,� .�

• 2?��!,� 62�

• �4!� &�64�;4�&,� � 263�

• �4!� &�64��//,&,�;!�;,9 � 6/,�

���	
	�������3*2�<����������0���4�	����������������������4��
��������B�

• �4!� &�64�;4�&,� � ��(�

• �4!� &�64��//,&,�;!�;,9 � 66)�

�

��������	���
��	�������	���������	�����
����������
�-�
����������������;��������

�
"���5������������5�������'�������
�	
���������
���������	
	���������
�	�4����������'���G���	
������B�
�

�� ���:� �����

>�,&�,�4&@��� �; �

�4!� &�643������;������
%*�%>� (*��>�

�
�����5���
�6/2,��5�������'�������	��	�������
�	
���������
���������	
	���������
�	�������	�����������������*436F�
97467F��������6/2+:$������	�
�	�������������������
������''�	
��
�����������	
����0������
��
��
����	
$�
�
�
��8
������ $�$
$4����32@26@6/2,4������	�������������������
���������
��'�
���������	���������$*,@*.4�-
��������
�������		
�������
�
���������0���4������
��
		
����		
��
�������
����������%����
������	��6+@/)@6/2*4��
����'�
���
����������
� ��� ���������	
� ���
��	��
� ��� ����
��� �
�� ����0���	1� �M� ��	$� 22� �$� *,@..� �� ���
��� ��� ������� ���
���������
�L��
���������	������"$�$�6+*@6//3���	�32$���

�
6������'��)�	��
���
������'��"����

�
���"���'�
������������� ������
�����
��8
������ $�$
$�����

�����	
�����		���	1���������������������
������5��	��
�
�����
��
�4�
������
�������������������������
��		����0����4�����
�������
�	�����������
		���
�����
����
�
���������������	��
�=#�������
��	�
�?������
���������5
��
�	���	1�������������������������	�����������	�����
���5�'�������
�������	����������
����
�������
��'�
����������	���''��������
������������	
���	����������	�����
���5�'�����������
��������
���������'�����
��	���$�
�
-���6/2,��
�
���
�����	����
��		�����		���	1�����������������
��'�
�����1���	��������������������	��������'�������
�
�
��	�	�������	�������
������������	����	����	��		����	��������������G����������
�����
�����	
�������������G���
������4� �� ��R� ����������	�� ������		�� ���� ���������� ����������$� ��
�	��4� �
����	����	�� ����� �
������ ��� #����
���
��	�
�4��
�
��	�	�������	���
�	���
���0
��'�
���������������
���	�Y��
��������	����������G����
�
��	�	��
�	�����	����
����
�	��		������������4��
���0
��'�
���D����
4�
��
������������������4�
��
����������	������	
��
�B�
�



- 42 - 

?��'�
���)B�;�������	1������� 	�������%����
4�;�������	1���� �����'������
��4��
��	�����
����%����
4�;�������	1�
%����
����
���4�;�������	1������� 	������������4�;�������	1��
��	�������������%�����H�
,����"���������
��	��!���
��B���	�	�	
� �����
������ ���	14���	�	�	
������������������
�G��������-��K��� 
��-�4�
��	�	�	
�����5��G�������	
��	�
������
������-��K���
��-�4�!���J�	������	�	�	��
��;�������	>�-
�	�����
����4�
��	�	�	
�������������������
�
������%���
�-����4������������� ��	����������	��
�K�� �4�%��������	����
��&

��
��V������
���>H�
���
�"�B�!���������Y�����	�������4����	��	�����H�
��
���
���	"��
����B�-
���
�	4�"
-#-�4�
6
�����
������
4������
��4��--#��-4�&�!!4�����
$�
�
U��	�	
���
�	�����������	
�������	�
��������� ���''���������
���	���
���
�
�����0
��	
�����������G����
	�0�������
�
��8
������ $�$
$4�����������1��
	�	
���������������0
��	
��
����0�
��
��������������0
��	
��
������
������
�������������
	��������''�������������
�	���������		���	1���������	����������	�������������
��		�������������
�	���
�����������������	��		����	���
�
�����������		����������
��'�
����������	��	����������������
�����������	���$�
�
�
��8
������ $�$
$������
�	�����	��������	
�����		���	1�������	�����'�
�����0�����������
��		�����
����������
����4�

		�����
���������'�����	
�������
��		����&��%�!�#
"
�!�C����������������	�������������	�	�
���	��	������
����������������	���%�	�
�
��	�����	>�
��%����4��

�����	
������		1�%�	�
�
��	�������%����
4���������
��		
�
86/6/�"J��K�"���	���J�	�����	>� C� ����������0���V�	������������	� 	
� �	�� ����	��� ��	���4� �

�����	
�����
���	�
�����
���	��'����������G������������
$�
�
��."�	�����

�
"
�
�����
��	������������	�'�
�������
�����	���	�����������
��������%����	������6/2*C6/2+4����	�������
����6/2,�0���+7��
������
�
��
	�	�����	���
�
��������	4������		
����2*�����6/2+$��
�
�	���
��������	�4��
�
��	�	������'�
��	����	���
���	���
�
�������	�����		�������������
����'�
���
����������
	
�����	
��������������
��
���
���
�
��������������R��������������G���	�����������������
�����$�
������������	��<� ����'�	
� ��� ��
��		
� ����	���	������ �
����
��4� �����������
� ��� ���� �� ��00���
�6/2,����
��������
�������
4����
�������������������'�
�6/2.��
�������	�����������
����	���
�
����������	������������		���$�
�
�����5��������	����	
����������	�
�����������G���
		�4��
��8
������ $�$
$������
�
��
���
��	���
��
�	
����
������������ �
��'�
��� ���
��	���� ���� ��� �������� ��
��	�� ������ �����	�$� ��� �
���0
��'�
��� �
�� ��� �
���	1�
��;��#�"4��
��8
������ $�$
$�������'��	
�����
����������6/2,��		���	1��
�	����	��	����������	������	
�
�
����
���
��	�������
		���''�'�
���������	������������	�����������'�
��������������	������������������	�4��������
����
	��
�����
���������������
4�������	��
����������������
����������	���'�
��B�

o  	���
���������	����������G���������
����
�
����'�������5���������'�
���������
��	�����
����	1����
���C�
����''�'�
��������������	�H�

o ���������'�
���������������������	�����5�	���''
���������	
�
�
������R� ���
��	�������� �������'�
�������
�
����������G�����������������	�H�

o ���������'�
���	�
���������������	�����������	����������
��	1�����
����''�'�
��������������	�H�
o ���	�
��� ��� �
�	���
� ����
� �	�	
� ������	��
� ������ ��	�� ������4� �		������
� 
������ ��� ���
��'�
���

�
�	�
���	��������
��	������		���������	����������'�
��4����������		��
����
		��������������
�����	
�
���� ��
����
� ��� �
����'�
��� ������ ������
��� ����5��G��� ���	��0��	�� ����� �	��'�� ��� ���'�
��� ������
�������	�������0��������	���
�������	�������������
�����	��'������
�	�
��
$�

�
��� ����
� ������	��		������ 
�G���
		�4� ���
����	
� ��
4� ��� ��
�����	
� ��� ��
����� �		���	1� ��� �������
� ���
��������	�'�
�������6/2,4��
�
��� 6/2,� ��� ���	
� ��
�	��� �5���������	
� ������ �������� ��
��		���� ��� J �� �
�� ���
��'�
��� �� �����'�
�����	��
��	�
�
		������
��	���
�������5��������	�'�
��������	���
���+� 
����������		1�%�	�
�
��	�������%����
B������	�4�
%����������4�%����
���	4��������
� ��4�������
�"�����
4���������
�������
4��
���	���$�
-���6/2,�<��	�	����	���	���5�		���'�
����������	�������
	���J �K�����>�J������� >�	�����������1�������	
�����
�
��
�����6/2.4�������������	���
���0
��'�
����
������
��	�����
����%����
$�
�



- 43 - 

��."��	����������

�
"���������������
��8
������ $�$
$�<��������	��������������������������������	�'�
��������
����
��'�
����������
����'�
����������
�����������������	
��
��	��������������������'��������������	1��������	����	
��������������
��������	�������������
���0��
��
���		�		
����
�����
��������������	������������	����	�
�������	����$�
��� ���
�����	
� ��� ����
��� �
�0������ �S� +� ���� 6+@22@6/2,� 6+$22$6/2+� �������4� ���� ������� 	��
�
���� ���
��	�����	�� �����'�4� ��� ����'�
��� ��� ���� ����'�
��� 	������� ��� ��������'�� ��������
C���
�
����� �� �5��
'�
���
��������'���������
��'�
�������	����������	�
�����������
��
����������������
���
�
		
���������G�����	�
�����$�
��� ���
�����	
� ��	�
����� ��
�	��� �5
00���
� ��� ����'�
��� ��� ��� �
�����	
� ����������	
� �� ��� ��� ���������
�
�
�����	
��
����	
����������
���������
����
��������
�����
����$�
�
��8
������ $�$
$����<� �������	
������������ ���
�����	������������	������ 	�		�� ���
���������������	����� ���
�����'�
������
4���������
��������
�����
����	1���	����$��
���0
���1������O��
��;�������	1������� 	�������%����
4�
�		������
���������
��������������
������4�����5��0�	
��������
�	��		
�������������	�����	
������
��
�����6/2,4�
�����������'�
��������
�����	������������	��������
�
���	����'�
������5��	���
������
��	�����	
�
������
�����
�5��	��
�	����	
��
� �
�0���
��������
����4�
�	�����������
������������
��������
�����	�����	�� ���
���	�������
������
���������0
��'�
��� ���
�
�������� �������������������������� �5�������'�
����������
�����	
$������������
���������1���	���LB�

o �
���
������	
������
��	���
����
	���������������'�
����������	��		�����
���
C���
���	���������
�����	��
����������	�����������
���������
��
��������������
���������	����	
��
��������
������
�H�

o �
� �������
� ��� ���� ���		��
���� V�0� ���� ��� ������'�
��� ������ �	��	����� 0���	�� ������ �
��'�
��� ���
��������
���0��
��
�	���0���4�����
�
���
��		�'�
���������
�	�	�'�
�����������	��	
�������
������
���
�������	
��������
���	���������	�$�

�
���"
�������

�
D����� ��	�����	�� �	��	������ ���� �
�� 8
������  $�$
$� �� �����''�	�� ������ ������	�� ��� ������'�
��4� ��� ��������
�
�5���������'�
��� ��� ��� �����	
� ��	����	
� ��� 242�����
��� ��� ���
� ���� ��� �
�	��'�
��� ��� ��� ������	
� �� ������
�����	����������������������0�
������� ������������
� ���������	
�����������
�-���������� �5����
������� �����6�
�����
��5������	
���������������
��
��
�������
��		
�����������
����	���''��	���������������������
��'�
������
���	���''��	�$�
�
�5���
�����	
���	���L������
��		
���������''�'�
����������0�
����������������
��5������	
���� ��	
� �����
������
����������
�	���������	������	1����������	
�����������
�������	����	
��������������
		����������0�
��������	������
���
�
�������	��
�������
�����	������5���
�6/2,�����		���	1���
��		��������������
���0�
���		��
������	����	�4�
�������
���	���L������
����
����	�����	��
���
���		��
�����04����
���
�
�������������������
���	1����������G����
�
���		���
���
���
�	������5��	��		
����9�
��	�	�4����
���'�
��4��������	�4����$:$�
�
�
��8
������ $�$
$4���
�	��4�����������
��5�������
��	��������������
������	���������������������������	�����
������'�
������
		���������
�
��������
����4�����
�	����	
������
��
�����6/2,��5����'�
������5��������	�'�
���
��� �
��'�
��� ��� ��
����
� ���� ��� �������
� ������ ���
���� �����''���
� ��� ��
��		�'�
��� ��� ���	����'�
��� ��� ���
������	�	
��4�����������1�
����	��
��������������������6/2.4������
����������	
������ ��	
� �����
����������
�5
		������	
� ��� ��0�	��	�� ���0
��
��� ��������	�� 0�
�������0���� 9�&
:H� ��� ��
��		�'�
��� �����	���� ��� ���
������	�	
��� �� ���	���� ��� 	��		����	
� ���� �����	��	�� �����
� �5������	
� ��� �
0���
�  -4� 
�	��� ���� ���
������������	
�������������
����	���	1������������
���00��H��5���������	
��������	���''
���������G����������
������	�4��
�������������
�����������	
������
����
H�����������
����'
��
��������
�����5������	
������	���������
��������������0�
���$�
�
 
�
��	�	����
�	��������	����
�����
��		���
��;�������	1������	���������	�������
�	���B�

o ���
���������
���������	��		����	
������G��������������������
���5�	���''
�����������9��
��		
�%��#"��4�
����
���0
��'�
����
��;�������	1���������:H�

o ���
��''���� �� ����������������'�
������� ��		
�������������	����� �������	�� 9��
��		
�;��
-�J
 !��7�
��
 !����
��������	������#��
 !:�������
����	����
��		�����������
��
����
�9��
��		
������	
��
��
&�!!:H�



- 44 - 

o �	������� ��� 0�
�������'�
��� ��� ���� ��
��� ������� ��� ����
����	����� ���5��	���
� ���� ��
����
� ���
������'�
���9���
��
�������������
��-
���
�	:H�

o 
		������ �8
� K� �
�����
����������
�	�4� ���� �
�
� �������
��� �������� ���� ��
������ ��� ��
��'�
��� ���
����	�����0�
�������0���4������������9���
��
�������������
��-
���
�	:H�

o ��
��
����� ��� ��������� �����	������ �		������
� ��� �������
� ��� ��	����� 
��������� ����5�����	���� ���
�
������	�����������	����
���'�
������0�
���������	���''
�����5�����������������������
�
��������
�����
9�
����'�
����
��"
-#-�:H�

o 	��		�������	������������
���������G����������������	��������5�����������������
����
���	���
���5����
�����
��
��		
�=J�	������������Y�%��������	�0���	
����� ���	�	�
�� ���	>�����?4�����
���0
��'�
����
��
�� 
C�-�4� !8��J
!��� �- !�!;!��#&�;-�4� �5��	�	�	
�  �����
��� ���  ���	14� ��� �
��	�����
� ���%����
4�
�5��	�	�	
�%���
�-����$��

�

���	��	��
���
���������'�������

�
�
��8
������ $�$
$������	��������	
�����		���	1�����������	�����'�
�����0������������������'�
�����������
���$�
������	��
����4��
�
���
�����	������		���	1�����������������	���������������
������	������������
��		
����&#�%�
J
!���6/3/�C����	�
����
����	����	���#����	�
���������������%��������	�
����0����J�	���	
V�����6/3/4�
��������
��8
������<� 
���		
����
����$� 
�
��	�	�������	�� �����������	�'�
������
	�������
����� ������	�����
������'�
������ ����������
�#�� !4� ����������
�� !4������
���;�������	1�%����
����
���4�
�	�����������		���	1�
�����
������0
��	
��
���G���������������
��		
�������	���
������
�������	�
���������� ���''���������
���0
��'�
���
�
�� �� �����	����	�� ���  ����'�� ����5
�0���	�� �� ������ !����� �� ��� ���
���	���4�  ��	����	���� �� �
������'�
���
����5;�������	1����%����
����
���������"����	����	
������������������	�
����������
��	�����
����%����
$�
�
�� ��
��		�� ��&�� %�!�#
"
�!� C� ������	��
 ��	����
 ������
 �������	��
 �������	��
 ���
 ��������
 	�
 ���


��������	���
 !	�3
 �(
 �	���5
 ������	�	
� ����5��0�	
� ���� ��
������� ��&�� 6/2+� �����	�� 
�	�
�4� �� "���!
��
J
!�����!]�C�"���	����
��	�
����
��V�	��B����Y����	�����>��������������	���V
�����
��V�	����
��	�
��4�������	�	
�
����5��0�	
�������
�������8
��'
��6/6/4��
�
��	�	�����������������'�����	
$�
�
�
��8
������ $�$
$���� ��
�	������	�����	
��������
�
�	����
��		��������� ������	����
��		�����
���B�;��
-�
�--#�
!�#-�
�!�#-�6/2,���-��
!�C%��9/�%�����	��
�%��;���
�(
�%����	��
���
�%��������
��
"%��	���
���


�%����(�����	��
 ���
 ���
 �%���;������
 �(
 ���
 ��������	���
 �	�3
 �(
 ��%���:4� 86/6/� �C�8
�� 9�	����	��


����������	��>�	�����
(��
���	�������
������	��
�����	��	��
���������:4�86/6/�!
%����#��%��9��������	�	�


"����	�
 ��������
 �������
 >
 �	����	���
 
�����	��
 ���
 �����3
 �������3:4� 86/6/� !8�!� � 9$�����	���>

�������������
 F�	�	������
 G����
 �3����:4� ��&��  ;��� �;"��� 9 ��	����0��� ��
���	�
�� 
�� �����>� ����
���
������ 	��
����  ������ ����	�
��V�	�����:4� ��&�� J
 !�6�
�;�� 9"
 �������
 ��
 ����
 ���
 ;����;����


�����	��
 	���
 �	������	��
 ���
 �������
 ����	����
 ;�	��
 ���	��
 �����3:4� ��&��&���"#%�9����	��
 ���������
 �(


;����;����
��;���
������
;	��
��;
$�B
���������3
��
�������
�3����������5
��������
���
(���	�	
���:4����
����������	���������������������������	�'�
���������(���
�������������6/2.$�
�
�
6
�'��"�������
�'�	������	��������������

�
����������	
������
��8
������ $�$
$�������4��
�����������	�������	��	
�������������	������'�
��4�����		���	1�
�
�	����	�����
�����	�	�4��
���		�		
�����������	������	���������������������������	����	�$��
�
��������	����������������
���	14��������	
��������
��	
������$�$
$�����
��8
��������������
�6/2.4��
�	������
������	���������	
B�
�

4��	��
�	
����6
 �����	�6/2.�

� �
!
	����������� 3)7$,.)$.6,�
9!
	�����
�	�:� 93/6$)7,$6.3:�



- 45 - 

�����	�	
�
����	��
���		
�� )6$37+$*3)�
��
���	�������'�����9
����������'����������	�'�
������	�����'�
��:� 9)$3+3$.7.:�
���
�	��� 923$,2,$.2,:�
�����	�	
���		
�����5������'�
� 33$2)7$+*,�

�
 �����
���4�G���	
���1��
����	�	
�����
�
��	
�����5�������	
����������	�
�������
�
��	
��������
��
���	��
	����������&#-�����������������	���'�
��$�
�
"��G��� ��� 	������� ��� �����	���	14� �����	�
� ������''�	�� �� ��
������ �����	�	�� ��� ������������ ���� �����
� ����
�����	����	�4���������'�
�<�G����
���������		������������	�	���
��	���$�
�
�
+��������	���
���1��-�������
����

�
-���5��0�	
� ����
� ��
������	
� ������ ��
����� �		���	1� �
�� 8
������  $�$
$� ��� 	�
��� ���
�	
� ��� ������� �������
�����'�����G��������������
����	���
������	������4����������
���G����	1�������������
���������	
@�
�	�
���	�$�
�
"�� �����	
� ��������
�� ��		����
� ����
�
� ������	�� �� ������� �����'����� ���� �
��8
������  $�$
$� <� ���
�	
� �� ���
�
����	1��
�������
�
����	�	�$�
�

9�: ������
�!���
������	�������
�

������	���������0�	����	
������'����
��������	���
������0����<��
���G������		
�	
��
�	���	�$�
��32������0���
6/2,����
�	�����
�������������
�)$776$+,34�����������������3F�����	
	��������5����0�	����	
��������������32�
�����0���6/2,$�
�

���� �	����� ��	�� ���� ���	�� ��� 	���� ����0�	����	
4� ��� 32$26$6/2,� ���� ���
� 3$+22$+//4� �� 	���
� �����0���� ���
���
�������
��
�	��		�����	�������
����
�;������������
���	���4��
���������	���$�
�
�A
0��		��
� ��� �
�� 8
������  $�$
$� <� ����	���� ��� ��
����� ���
��'�
��� ����� �����	�� ���� 	����� ��� ��	�������
���	�����
� �� �
�	�� ��� �����'�����	
� ����		�0���$� �� ������� �
������� ���A�����	
� ���� 	����� ��� ��	������� �
�
�
�
��	
��	���
�C�������	���$�
�
-
�����<�������������'�����������
��	��������
���	������
		�	������
��8
������ $�$
$4����	���	���������������
�����
���������	���
���������������		��'�
�������	����������	��������������
��������0�	����	
���	���
������0����
	����
�����
��� ��� ����0�	����	
��� 	���
� ����
4����1� �A����		
���� �������� 	���������	�$�D���
���G���	
� �
����
������	
��
����������''����4�����������
��	����	�����
	������
	��00��
���	�������������		������	��������A�		���	1�
�������
���	14���������	��'�
��������'�����������������	�	��������
����'�
��$�
�

90: ������
������G����	1�
�

���������
������G����	1����������	�����������
����4�������������5��������	1���������������
����
����
������G�������
�		���	1����������	
4��
��8
������ $�$
$��
�����������������
�	�������
����������������������	
4���	��������
�
�������		
����������	�	
���
�
���
��������
�������������
�	��		�����
�	�������
�	������'�
�����������
�	��������
����
������������
�������	��'�
���������
���0���	1$�
�5
0��		��
� ��� �
�� 8
������  $�$
$� <� ��� ���	������	
� ���� 	���
� ��� ���� ���	�
��� 0�������	�� ������ ��
�����
���
��'�
��������'�����4��		���������	���������	��		��������������
�����G����0��
��
������
��
��'�
�������5�		��
�
��� 0������
� �� ��� ����
� ��� ����������� ��� ����������� ������0���	1� 
����	���� �		������
� �5�	���''
� ������ ��G����	1�
������	���������		���	1�
����	�����
����	����������
��
��������'�����	��0������$�
�
��� ������	1� ��� ��������� ��G����	1� ������ ���	�
��� ����		����	���4� ���	����	������� ������	1� ��� ����0�	����	
4�
�
����	
�
� �� �
�� 8
������  $�$
$� ��� �
��������� ��� �������� ������	�� ��� ��
����� �������	1� 
����	���4� ���



- 46 - 

�����'�����	
� ���� ����	���� ����
���	�� 
����	��
� �� ��� �����	����	
4� �
���N� ��� �����		
� ���� ��
���� 
00������
�����'����$�
�
����
��8
������ $�$
$��������		���''�����������
��	�������������
�������	���
����������
��0���	1������G����	1����
�	�����	�������'��������0���
��@
�����
�0���
�������
����������
$����
�
����
���	1�������	��
����������
		�	
���1�����6/23�������
�����	
������5������
���������G����	1�������������
�����	����	������		���	1������'��������������	
�������
$� ������������������	��	���������	������������������5������'�
�
����������������
	����	����	���$�
�
�
�L����������
��8
������ $�$
$���
������������
���	��������������
������G����	1�������������	���5�������
���
�����
�������	�	�	��0�����������������������������������	
���0����$�
�
���������������G����	1����
�	��
����32$26$6/2,���64)�����
���������
4���������������G��������
����	���''�	�$�
�
 �� �������� ���4� �
�� ���
����'�� ��� �����
� 6/274� �
�� �5������'�� ��� ��������� ��
������� ��	����� �
�	�� ���

		���''���� �5���
��'�
��� ������ ���
���� �����'������ �
���������� �� ������
� ��� �����
� �
�� �� ��� �
	����� ��� ����
����'�
������	�������������
������'����
����������������������R���������	������'�
������5
����	���	1������'������
����5��	��
������
4�<��	�	
��
		
����		
�	����
��8
������ $�$
$����
����G��� $�$�$�������
��
����=�;���	��


����
����	��?4�
����
�������	����''�'�
������������	�
�����������G����	1���������4�
����	��
��������������6/2,�
������6/2.�9���
����3/$22$6/2.:$��
�

��32$26$6/2,�G���	���
��'�
���������'��
$��
�

9�: ������
���������	
�
�
���������
���������	
����������	���A���
��'�
����������
���	1����
	��'����������	�������
��
�
��
�������������
�
�	�
���	���
����������
������'�������
�������		������
����
00�����$�
�
����������������������������	
������
��8
������ $�$
$��������
����������	���
�����������������
���	�������������'�
�
�����
���	����	
4�����
��������92$2$6/2,:�����		����	���4�������
�����	�4������	����
���	1�9���	
��������	�����0�	�4�

����
��8
������ $�$
$�<�=���	
�����
����	�?:$��
�
�
��8
������ $�$
$��������������
�	����G���	
�������
��
���
��	���������
��������������
���
�����
��	
�����
�
������������������
�	���		���4�����
������
������	���������������	
���	������������������
��A�		��'�
������������	��
������� ��� �������
4� ���� ���� ��������� ����5�	��'�� ����		����	�� ���	�	�� ���� ���� ��������� ���� ���	
��� ��� ���� <�
��
����	�$����������������������G���	����	�����
�
��	�	���������	������������������		�����
�����
����'�
����$�
�
-
�
�	��	��G���	
��������4���������	
��������������	�������� �����������	
��
	��00���������������		
�
����	��
� �
�	��'����� ����A�		���	1� ��� �
�� 8
������  $�$
$4� ������ ��	��'�
��� �����'������ �� ���� �����	�	�� ������

����'�
����
���N�������������	1����������
����
		��������������
����
00����������������	
�
�
�� �����	�� �
���������� �
�
�������	�� ���0������
������		
������������	�'�
�������
��	�� ������0�������� ������
����
����������'�������� �
�	�
���	�4� ��	������	�� �
���������
� ��� ���
���'�
�������
��0���� ������ �
���0���	1�����
�����	�����
���������
�����	���	
����$� 
�
�
���		
���������	�'�
�������������������
��'�
��4��������
������	��
���������	���4��������G�����������������5
���		�����
���'�
�������������0���	1����'�����
�	
	���$��

�
�

9�: �
�����	����-���	��������������������$�
�

;��� ���	�� ����5����0�	����	
� ������ �
���	1� ��� 32$26$6/2,� <� 
������	�� ��� �
�	��		�� �� �����'�����	
� 
� ���
����	�	��
00����'�
��������4�����������
���������
����'�
�����������	
4�������
�
�������������	�����������������



- 47 - 

����
���	1$�!���������5������
�����
���
�������4�����
����	�
�����	�0���	������	�4�����	���������'��	
�����������
������
����0����9�����	��
������:4������
������������
�(
�������
������	
�����
�
�	
�����
��(����$� 
�
���
�	���
������	��������������
������	��		���������
������	
������	������	��
����'�
����	��
����������������������
���
�������		���$� 
�
�������	����	���L����������������'����4��
��������
���		�����	
�����
	�������������	����������	
�
�����		
���O��
��
�	��������������'������0�������
�����	��������������
��������
���	1$�

�
�

?���	�������
"������-�������
����

�
�
��8
������ $�$
$4������
��
������������6//*���6//+4���������
���������
��'�
��������������
����
�;���9	���
�
�����������
��'�
���������	��		������ ������
��������
���-������0��:4������
��
�����6/23�������������	��
��5������	�����������
���	1����
��
��	��!$
$%$� $�$
$��9�
�	�
���	��<�%
�	������������:��������
��
�����6/2)�
��������G����	
�������	
����������
��
��	�������%����
� $�$�$�9�
�	�
���	��<�������-�'�
������������
�
� $�$
$:$��
�
!�		���
�
�������	�����������	1��
		
�	��	�����	��
������'����
$�
�
-��� ��		����
� �
��8
������  $�$
$� ��� �
		
����		
� ���� �
�	��		�� ��� ��	����	� ��	��  V��� 9�� :� 	���
������	��
������0�����
��������B�
2$ 2+���00���
�6//*B��� �����
�������))$323$2*3�E�9������
�	����	
:���������'��32������0���6/62H�
6$ 27������
�6//*B��� �����
�������2$*6*$,2*�E�9������
�	����	
:���������'��32������0���6/6/H�
3$ 22������
�6//*B��� �����
�������6/$///$///�E�9������
�	����	
:���������'��32������0���6/2.H�
7$ 6��
���0���6//+B��� �����
�������6/$///$///�E�9������
�	����	
:���������'��32������0���6/6*$�
)$ 2*������
�6/22�9�
�	��		
��	�����	
�����������	���
��
� $�$
$������
��8
������<���0��	��	���������	
�������

����
��� ��	������	������ 6/2)���� �����%����
� $�$�$:B� �� ���� �
�������*$///$///�E� 9��� ���
�	����	
:���
������'��2*������
�6/6*$�

�
%��	���������
���������G���	���������
��'�
����
�
���������9��������
����'����:��
���	���������		
����������
�
���
������'�
�������	���
������	������4������	��������	���
�
������	��
�
��������=?����	��
�;��?4�
����
��
�
�
�	�����	�� �����'����� ���� ���G���
� �
�� ��� ������	1� ��� 	����
������ ��� ��
���
� ��� ���0
��
� ����5����0�	����	
�

�
�����''���
4����	�������������
���
		����4�������0
��
�������0�	
��	���
$���
�
-����� �
�
� ��������4� ��� ������ ��������4� ����� 	����
����
� ��� ���	��0�'�
��� ������ ��	�� ���� =�
		
�	��	�?� ����
	���
$� ��� ���	��
����4� �
�� �������
� ��� ��	��� �� 	���
� ����
� 9��� ���	�� ����
������	�� ���� �����'�����	��
�
		
�	��	�:�����
����	
��
���
�
���������������������	����������������4�����
�	����������������	
��������	�����
�������
�������� ��� �������������� ������'��������	�
$���� 	����
���'�
���������������'�� ����		��'�
�������
?����	��
�;����
������������		��	�����
�	
�'��
B����0������
�	�
���	������
��;�������������
������������
�
���
����
��	��
�����������������	����������	��������	���''�	������������
����'�
�����������
���	�$�D���	
��������
���������	�����������������'�
��$��
�
��� ��	��� 	������4� ��� ��������4� ��� ?����	��
 �;��� <� ��������0���� �� ��� �����'�����	
� ���4� ��� ������'�� ������
�
���'�
������������
���������	������������'�
������������	�
������5��
��������������
		
����'�
��4�����������
�5�����	�''���
�����	�������	������4��
����	L����
��8
���������
		�����������������
����	�������������0
��
����
����	��������	�������������������������'�4�������	
��		������
���������
����0
��
����G����������������$�
�
�����;����
����������	������������2���74��������		���''��
������
�����0�
�������
�	������������	���
�9���
		
�	��	��
�
�
���	���
�����
��������;��
�
�
�����	�������:$ �
�
�
������
�������'�
�������
��V����$7����4�����������	��������4�����
�������5���
�	���
���������32$26$6/67����
32$26$6/6*4��
�������������������5��
	�����	�0���	��������������
���-����	��
����
9�
�����������	
����5�������	
�
������	���
�����0
�:4� �5�'������0���������00�������� �����
��
��	��
��
��������
�	�
���
�������
���������E�
2$6//$///�9��		
���������������
������
���0���	1����0��������������������������
�	�
���
���0���
�����	����:$�
�



- 48 - 

���� �
��;���������	
�����$3� 9�����
� ��� ����'�
�������������	�	
�
00����'�
����
4� �
�� 	���
������0���:4����
�
�������4���������	
4�������	������
��8
������ $�$
$�����������	
����������	�������	������	�����������	������
	���
���������	��������0���������������	
����������������G�
	������	������������������G�
	����	�������9���
��		
������
�������:�������	������������
		
�	��	�$�
�
�
� �	���
���� �
����	�	
����
��8
������  $�$
$���� ����	���� ��� ������
� 	���
��5��	������4������� �
�	���
��
��
�
����	�4� ���� ����
�
� �
�	��		����''�	
4� ��� 0����������� ��� ����	����� ����'�
��� ���� 	���
� �����0���� ���� <�
������''�	������������	1��
		
�	��	�$  

tipologia 
contratto 
derivato 

IRS multifase 
mps 

interest rate swap 
Intesa 

interest rate swap 
Intesa 

interest rate swap 
bnp Paribas 

interest rate swap 
bnl 

 1 2 3 4 5 

data contratto 14/06/2006 17/02/2006 11/07/2006 22/01/2008 16/05/2011 

finalità copertura su 
tasso  

copertura finanziamenti copertura 
finanziamenti 

copertura 
finanziamenti 

copertura su tasso 

n. contratto 72399 602170669 607120274 
(12049552) 

10706142 5963433 

valore 
nozionale 

1.626.816 55.313.163 20.000.000 19.389.639 6.000.000

capitale in vita 269.951 5.494.200 1.481.500 10.336.020 3.461.538

scadenza 31/12/2020 31/12/2021 31/12/2019 31/12/2026 16/05/2026 

rischio 
finanziario 
sottostante 

   variabilità tassi di 
interesse  

mark to market -16.033 -16.963.188 -1.466.972 -1.558.894 -49.011

attività/passività 
coperta 

prestito mps mutui cassa depositi e 
prestiti 

prestito 
obbligazionario 

prestito intesa (ex 
banca opi 2006) 

prestito bnl ex Idra 
Patrimonio 

Tipologia 
contratto 
derivato 

IRS multifase 
mps 

interest rate swap 
Intesa 

interest rate swap 
Intesa 

interest rate swap bnp 
paribas 

interest rate swap 
bnl 
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Predisposto in accordo con gli IFRS adottati 
dall’Unione Europea (“UE IFRS”). 
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Omologato 

dall'UE
Data di efficacia

Amendments to IFRS 10 and IAS 28: Sale or 

contribution of Assets betw een an Investor and its 

Associate or Joint Venture

No Non determinata

IFRS 16 Leases Si
Esercizi che iniziano a partire dal 1 

gennaio 2019
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In Euro 

Attività e 

passività 

finanziarie al 

fair value con 

variazioni a OCI

Finanziamenti e 

crediti/debiti al 

nominale

Attività 

finanziarie 

disponibili per la 

vendita

Passività/attività 

finanziarie al 

costo 

ammortizzato

Totale

ATTIVITA’:

Altre attività non correnti 0 70.867.051 0 0 70.867.051

Crediti commerciali 0 200.176.472 0 10.639.295 210.815.767

Disponibilità liquide e mezzi equivalenti 0 197.117.934 0 0 197.117.934

Altre attività correnti 0 14.376.105 0 0 14.376.105

PASSIVITA’:

Passività finanziarie non correnti 13.668.122 94.590.553 0 37.634.657 145.893.332

Altre passività non correnti 0 74.486.397 0 0 74.486.397

Debiti commerciali 0 146.244.943 0 0 146.244.943

Passività finanziarie correnti 6.385.975 10.928.014 0 6.745.189 24.059.178

Altre passività correnti 0 44.210.232 0 44.210.232
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CAP HOLDING S.P.A.

Relazione del Collegio sindacale all’assemblea dei soci. Pagina 1 

RELAZIONE DEL COLLEGIO SINDACALE  
ALL’ASSEMBLEA DEI SOCI di CAP HOLDING S.P.A. 

Ai sensi dell’art. 2429, comma 2, c.c. 

Signori Soci, 

Nel corso dell’esercizio chiuso al 31/12/2018 la nostra attività è stata ispirata alle disposizioni di legge 

e alle Norme di comportamento del collegio sindacale emanate dal Consiglio Nazionale dei Dottori 

Commercialisti e degli Esperti Contabili, nel rispetto delle quali abbiamo effettuato l’autovalutazione, 

con esito positivo, per ogni componente il collegio sindacale. 

Attività di vigilanza ai sensi dell’art. 2403 e ss., c.c. 

Abbiamo vigilato sull’osservanza della legge e dell’atto costitutivo e sul rispetto dei principi di corretta 

amministrazione. 

Abbiamo partecipato alle Assemblee dei Soci ed alle riunioni del Consiglio di Amministrazione, in 

relazione alle quali, sulla base delle informazioni disponibili, non abbiamo rilevato violazioni della 

legge e dello statuto, né operazioni manifestamente imprudenti, azzardate, in potenziale conflitto di 

interesse o tali da compromettere l’integrità del patrimonio sociale. 

Sono state acquisite, durante le riunioni svolte, informazioni sul generale andamento della gestione e 

sulla sua prevedibile evoluzione, nonché sulle operazioni di maggiore rilievo, per le loro dimensioni o 

caratteristiche, effettuate dalla società e dalle sue controllate e, in base alle informazioni acquisite 

riteniamo opportuno evidenziare che la Vostra società, in data 25 giugno 2018, ha concluso, con 

decorrenza 1 gennaio 2018, l’acquisto del ramo d’azienda relativo alla “Attività di gestione del rapporto 

con l’utenza e la fatturazione delle tariffe del servizio idrico ed i laboratori di analisi” dalla controllata 

Amiacque S.r.l. 

Abbiamo incontrato la società incaricata della revisione legale dei conti BDO e non sono emersi dati o 

informazioni rilevanti che debbano essere evidenziati nella presente relazione. 

Abbiamo incontrato il Collegio Sindacale della controllata Amiacque S.r.l. e non sono emersi dati o 

informazioni rilevanti che debbano essere evidenziati nella presente relazione. 
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Abbiamo incontrato gli Organismi di Vigilanza della società e della controllata Amiacque S.r.l., 

prendendo visione delle relazioni degli organi stessi e non sono emerse criticità rispetto alla corretta 

applicazione del modello organizzativo che debbano essere evidenziati nella presente relazione. 

Abbiamo acquisito conoscenza e vigilato, per quanto di nostra competenza sull’adeguatezza e sul 

funzionamento dell’assetto organizzativo della società, anche tramite la raccolta di informazioni dai 

responsabili delle funzioni ed a tale riguardo non abbiamo osservazioni da riferire. 

Abbiamo infine vigilato, per quanto di nostra competenza, sull’adeguatezza e sul funzionamento del 

sistema amministrativo-contabile, nonché sull’affidabilità di quest’ultimo a rappresentare correttamente 

i fatti di gestione, mediante l’ottenimento di informazioni dai responsabili delle funzioni e l’esame dei 

documenti aziendali, e a tale riguardo, non abbiamo osservazioni particolari da riferire. 

Non sono pervenute denunzie dai soci ai sensi dell’articolo 2408 Codice Civile. 

Nel corso dell’attività di vigilanza, come sopra descritta, non sono emersi ulteriori fatti significativi tali 

da richiedere la segnalazione nella presente relazione. 

Osservazioni in ordine al bilancio d’esercizio 

Il Bilancio della società CAP Holding S.P.A., chiuso al 31/12/2018 è stato redatto secondo i Principi 

Contabili Internazionali così come previsto per gli “Enti di Interesse Pubblico” ai sensi del D. Lgs. 

39/2010. 

Il Bilancio è stato approvato dal Consiglio di Amministrazione del 15 aprile 2019 ed evidenzia un Utile 

netto d’esercizio di Euro 27.242.184. 

  

La società incaricata BDO in data 30 aprile 2019 ha emesso la Relazione aggiuntiva per il Comitato 

per il controllo interno e la revisione contabile di cui all’Art. 11 del regolamento UE n. 537/2014, di cui 

verrà curata la dovuta trasmissione al Consiglio di Amministrazione. 

In detta relazione sono stati illustrati fra gli altri: 

o la conferma annuale dell’indipendenza della società di revisione; 

o gli aspetti principali della revisione;  

o i livelli di significatività per il bilancio consolidato e il bilancio separato; 

o il Piano di Revisione; 

o l’area e il metodo di consolidamento;  

o la metodologia di revisione e i metodi applicati in sede di bilancio consolidato e di bilancio 

separato;  
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o le aree relative al bilancio consolidato e al bilancio separato;  

o le attività svolte dal team di revisione dedicate al gruppo CAP Holding S.p.A.. 

Nella medesima relazione la società BDO ha anche attestato che non sono state rilevate significative 

differenze di revisione sul bilancio e sul bilancio consolidato, né indentificate carenze significative nel 

sistema di controllo interno e sul bilancio in relazione al processo di informativa finanziaria, elencando 

le comunicazioni obbligatorie al collegio, ed infine dando atto che dalle verifiche sulla regolare tenuta 

della contabilità sociale e della corretta rilevazione dei fatti di gestione e nelle scritture contabili non 

sono emersi aspetti significativi da segnalare. 

  

Sempre in data 30 aprile 2019, abbiamo ricevuto da BDO le relazioni previste dagli artt. 14 del d. Lgs. 

N. 39/2010 e 10 del medesimo regolamento in ordine al bilancio e al bilancio consolidato al 31 

dicembre 2018, nelle quali la Società di revisione ha formulato un giudizio positivo, senza rilievi né 

richiami di informativa. 

A giudizio della Società di revisione la relazione sulla gestione risulta essere coerente con il bilancio e 

il bilancio consolidato, redatta in conformità alle norme di legge senza identificare errori significativi. 

Nell’esercizio 2018 CAP Holding S.p.A. ha conferito a BDO l’incarico di Attestazione della 

Dichiarazione consolidata di Carattere non Finanziario ai sensi dell’Art. 3, comma 10, D. Lgs. 

254/2016 e dell’art. 5 Regolamento CONSOB n. 20267.  

Abbiamo ricevuto tale attestazione in data 30 aprile 2019 dal documento risulta che la DNF del 

Gruppo CAP relativa all’esercizio chiuso al 31 dicembre 2018 è stata redatta in conformità a quanto 

previsto dagli articoli 3 e 4 del decreto e dai GRI Standards.  

   

Non essendo a noi demandata la revisione legale del bilancio, abbiamo accertato, tramite verifiche 

dirette ed informazioni assunte presso la Società di revisione, l’osservanza delle norme di legge 

inerenti la formazione e l’impostazione dei bilanci d’esercizio e consolidato e della relazione sulla 

gestione a corredo degli stessi. 

Inoltre abbiamo esaminato i criteri di valutazione adottati nella formazione dei bilanci presentati per 

accertarne la rispondenza alle prescrizioni di legge e alle condizioni economico aziendali. 

Il collegio sindacale non ha riscontrato operazioni atipiche comprese quelle effettuate con parti 

correlate o infragruppo. 

Conclusioni 

Considerando anche le risultanze dell’attività svolta dalla Società di revisione legale dei conti 

contenute nella relazione di revisione dei bilanci, che sono state messe a disposizione il giorno 30 

aprile 2019, il collegio propone all’Assemblea di approvare il bilancio d’esercizio di CAP Holding S.p.A. 
















